I udten wort
\l National Testing Agency

Test Date : 21 reb 2023 Test Slot : siot 1

Subject : 85-Konkani

Sl. No.1
QBID:185001

AT, TG, TA, IR, A, S, Ser, Bl e AT 372 SRl § HIERU HIv Higw?

1. glUsq
2. HIHE
3. diede

4. PP
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=4601]
2[Option ID=4602]
3[Option ID=4603]
4[Option ID=4604]

Sl. No.2
QBID:185002

U] b saidal Ui Alcd®R ARTIH Y fhdl IRId Aiaroied AT, 312 e A

1. hIvo gl [as - IdS Aehided] Hieeld die-fdaral grd.
2. “WpITSl g fdSaHTdS Alehided] Hidldd dig-fadial Ui,
3. “giufeqErdedn fauHi grad

4. *3{-a-GedrHI dedT [daa-1 Ui

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=4605]
2[Option ID=4606]
3[Option ID=4607]
4[Option ID=4608]

Sl. No.3
QBID:185003

YR fdeed! U1 a1 i Uil i S AR <Raydid?

Opera, Satirical, Novel, Realistic Comedy

1. Arefid, JUgRiid Aaad T, GETiara.
2. AT PTed, JUGRITP Tacih YT, drkdd fa=Tidl &,
3. 7fid 1eg, IYgTHi Tdah I, BTl GHifddD]

4. 711d 12y, IUgRiich Adfeidh], dRdad Tl

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=4609]
2[Option ID=4610]
3[Option ID=4611]
4[Option ID=4612]

Sl. No.4
QBID:185004




3BT Qb edid DU [aaRI S HigdIRarA HHid S gddl?

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4613]
2[Option ID=4614]

3[Option ID=4615]
4[Option ID=4616]

Sl. No.5
QBID:185005

I9-giHe gl b g1 SlF Pl -4 il W=l eidere YUy ArUre] aded = Jdield Sl 2

1. gl fobfefirgm (1940)

2.5 fopdifRrem (1941)
3.5 Y [Iar afeg fere¥=r (1942)
4. ¢ Y fUsR sfieg b RIS (1943)

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=4617]
2[Option ID=4618]
3[Option ID=4619]
4[Option ID=4620]

Sl. No.6
QBID:185006

THG STTOT UHIa 5T A 31 fd?

1. WIBR 3! gRomy
2. gHIfdRe 311+t gikomy
3. ORUMH 311 [ihR
4. GRumH 311 gHrage

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=4621]
2[Option ID=4622]
3[Option ID=4623]
4[Option ID=4624]

Sl. No.7
QBID:185007

A U dooTHD NG fobd 7god?

1. YTHDH T
2. YTHR] I3
3. YA TR
4. YHUT T

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=4625]
2[Option ID=4626]




3[Option ID=4627]
4[Option ID=4628]

Sl. No.8
QBID:185008

HRATdedT HI6R YhRided] Soiid Tsfard Sial qiigdddi-i ufsee fadr. dur ot aifgaddt

1. SISl Al

2. UIe¥1% Aligd
3. 3fder™i® dllgd
4. YR Oifed
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=4629]
2[Option ID=4630]
3[Option ID=4631]
4[Option ID=4632]

Sl. No.9
QBID:185009

“He¥eh JHidl AN, 1R FTalfcl. QERUl A=l IRl A gsd 54Ul il did gidis=l 9al,
TarEl T, S e g @ 32 A9 Ya=1h! gl Yadbid el dIdadhR givlt Hiumd quid
Dl

1. fa=ma

o=

=
et

[T o |

=

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=4633]
2[Option ID=4634]

3[Option ID=4635]
4[Option ID=4636]

Sl. No.10
QBID:185010

“ala g1 P gigdedr HIvmHl?

IRELRICEIC
2. &g dga®R
3. UIR GUBR
4. IR dPTPR
1) 1
2) 2

3) 3
(4) 4

1[Option ID=4637]
2[Option ID=4638]
3[Option ID=4639]
4[Option ID=4640]

Sl. No.11
QBID:185011




‘gP UTHIOR BT UY B0l SRIan?
1. exarHl

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4641]
2[Option ID=4642]

3[Option ID=4643]
4[Option ID=4644]

Sl. No.12
QBID:185012

HEldb 4R U Gl DIGaaed UMDl HISTaw, dal STl JoiTedl SdTde JHld ol
AP ol PIEas! Tl

1[Option ID=4645]
2[Option ID=4646]
3[Option ID=4647]
4[Option ID=4648]

Sl. No.13
QBID:185013

‘ ei=d1 S I UiaH1 Wi e dres Ryeaias] d1d Teed YR 31%1 B0} IgUrdi?

1. P19 GeR gl HAfall dgaid ool givl

2. QIR AR gi=dl HATRi S1. YhI doiRidbR givll
3. AT dI¢hR gl HAfait ef. gkes AdeR il
4. SOl A gie HAfdeh el dehis®R givh

11
) 2
(3) 3
(4) 4

1[Option ID=4649]
2[Option ID=4650]
3[Option ID=4651]
4[Option ID=4652]

Sl. No.14
QBID:185014

L TR 3= YT 811 IS ST gl Syded] <U-9rd Hid [dbd 3

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=4653]




2[Option ID=4654]
3[Option ID=4655]
4[Option ID=4656]

Sl. No.15
QBID:185015

“[Hde] g1 Gl 3 PR P! dl Yosldep, dreieh 9T, egcid fSHdr. gur bedldeh TR fddaial dia
T 3R ey daaei vl gl

1.%d1g hDPR

2. QM IR

3. 31 41. 9. bsdb
4. 81 3fiadi= M
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4657]
2[Option ID=4658]
3[Option ID=4659]
4[Option ID=4660]

Sl. No.16
QBID:185016

‘ged] 9Ud dd IR’ g IBUNS 9had feoeedl gaididal aided 21 dierd

1. U= 7079 ST TR
. 931 U AR dd 3{dyq
. iETie 3ed 9Idad-l dsdidk Usy

1[Option ID=4661]
2[Option ID=4662]
3[Option ID=4663]
4[Option ID=4664]

Sl. No.17
QBID:185017

“HIBT TR 311 &l B didbdcidedT =1 Td YR ¢4 2

1. BBl
2. gregdruft
3. IidpTuil
ifcepToft

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4665]
2[Option ID=4666]

3[Option ID=4667]
4[Option ID=4668]

Sl. No.18
QBID:185018




IHad [Geedl 9ot W=l didhda UhRided! 3THId?

wgofl el gt
It 1T WHD
$Hadl Yed gTHI®], GIHD]

ol gHied

1. 9rsHIS it
2. dIUEiHD
3. YU

4. SR

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4669]
2[Option ID=4670]
3[Option ID=4671]
4[Option ID=4672]

Sl. No.19
QBID:185019

UG ARAR 3T UIaqH fHIR BI0Md Fifldal?” 81 FUT dAd-91ar=a] Sl JdarR 39dIs
Hlefdi?

1. 9N
91

e
RIUIEA

B Ly b

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=4673]
2[Option ID=4674]

3[Option ID=4675]
4[Option ID=4676]

Sl. No.20
QBID:185020

Sl UHIY SIS BT 1660 I Ioarslidedl Uy HIUMH?

1. 7RUR € 9 fHa
2. T reer
3. 931id g ggle
4. Y T HT

1) 1
(2) 2
(3) 3
4) 4
1[Option ID=4677]
2[Option ID=4678]

3[Option ID=4679]
4[Option ID=4680]

Sl. No.21
QBID:185021




G siih 47 §IT Y& SHUIBR “difSeeil grai g1 =idr Bivl bar

1. RTHPW] wfdRp X

1[Option ID=4681]
2[Option ID=4682]
3[Option ID=4683]
4[Option ID=4684]

Sl. No.22
QBID:185022

Q101 TTiaaTd gl SRgeedl Yedahidl diel ISarsqul aRyl FHI0l shH Tl

1. TSR TAIH 9UUD, DIl 1R Sd, 37d BRI, eghd [ 11 S o
2. BB HIRH OId, 3HTd BRI, MABRIE! TATHRIE! a0, SHTedard|- 114 BRI orae
3. MGSRIE MATHIE GHUD, STegdabi- 1Y DRI forad, 3iTd BRIY, Hibuil HIRIH Sid
4. 3fegbeb |- 1Y BRI o, Hidull IR Sid, Sfld BRIY MASRIE! TarHRIcd 39S
o 2
(3) 3
(4) 4

1[Option ID=4685]
2[Option ID=4686]
3[Option ID=4687]
4[Option ID=4688]

Sl. No.23
QBID:185023

“3GaY B! g UTadl” BT MUl ARG 9T g=ai=l fARIT UdT o=l R Ml gEd Ais] SIul
LG

1[Option ID=4689]
2[Option ID=4690]
3[Option ID=4691]
4[Option ID=4692]

Sl. No.24
QBID:185024

Hib Uil BRI AT faHad! 8 fbardear FHs T AdT?

1. 372 37Tt ITHg B U1 de
2. 312 3 Hoi I
3. raear siyf s
4. F@ea odi dE
1) 1
() 2

3) 3
(4) 4




1[Option ID=4693]
2[Option ID=4694]
3[Option ID=4695]
4[Option ID=4696]

Sl. No.25
QBID:185025

U 2RI SSHRER B (—— ) fe el el dal diebl db1 SMfRied] SHR a1 DR did sRiq=r
a1 g1 I Ureo] fequt Iavi @a=io

ol w5
I, o
B4R

L

_PId

4. o o gd
(1) 1

) 2

3) 3

4) 4

1[Option ID=4697]
2[Option ID=4698]

3[Option ID=4699]
4[Option ID=4700]

Sl. No.26
QBID:185026

b gl caldedT fgi] AT ¢ gedld.

2. FRTaY, Hiesdas, giAMRR
3. Sldq, Uy, faTiay
4. JdieR, fayy, dgHidpid

(1)1
2) 2
(3) 3
(4) 4

1[Option ID=4701]
2[Option ID=4702]
3[Option ID=4703]
4[Option ID=4704]

Sl. No.27
QBID:185027

DY fGeedl Q=1 YT quidedT a1 HH Tl ;

A. DI YgaGT= 7H (Fadt M)
B. Hib Uil ATG I

C. DIHUil AHN (Gl 3rarh)

D. 311fd & feivar el

E. i Uil 10T (JUTR 3HTaih

Choose the correct answer from the options given below ;

1.A.B.D.C.E
2.8, C.AE
FACD.B.E
4. A,B.C,D,E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4705]
2[Option ID=4706]
3[Option ID=4707]

4[Option ID=4708]
|




Sl. No.28
QBID:185028

HIL=] 9TURTd T dauTeh o SR 3{HId G| Teld 4dy TRuid 3T

IR R G CATIRG

2. HIRIdedT dvdid R

3. TR Geft, o et it faaet defit Rt
4. HIRIdAT SHNIH] 9559 31Y TRl

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=4709]
2[Option ID=4710]
3[Option ID=4711]
4[Option ID=4712]

Sl. No.29
QBID:185029

ST AT, HIG- 4TI, W e gl DU TR 5 SATRTd?

1. SHT YUY
2. HHYRY
3. 9YyA Uc

4. A YYq
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4713]
2[Option ID=4714]

3[Option ID=4715]
4[Option ID=4716]

Sl. No.30
QBID:185030

q 1T &1 Uil el <1 & areid 3T &1 € U8 Had awi?

1[Option ID=4717]
2[Option ID=4718]
3[Option ID=4719]
4[Option ID=4720]

Sl. No.31
QBID:185031

fezerdl, ey dob, ditheel] Hior 811 Hiddi Fedi TEUR gigdd Piur?

X fa. 4934
. QUIHIYT ARBR
4.9 H dSPIS

1)1
(2) 2
(3) 3
(4) 4

W b2 =

1[Option ID=4721]




2[Option ID=4722]
3[Option ID=4723]
4[Option ID=4724]

Sl. No.32
QBID:185032

HER feeedl oY bl =l Siddded dear Hull go wasi
SRS O e

TR wgol Hadr

IR IARTD GIgell Hofieh

1. Tod Tgsid HRal Y11
2. BT ol eRal |19 |

3. UG T 11411
4. 41 are TRdT Y11

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4725]
2[Option ID=4726]

3[Option ID=4727]
4[Option ID=4728]

Sl. No.33
QBID:185033

hyd faed Sedddl Wadl Siial RS 31T 2

1. SR - (e WiehR

1[Option ID=4729]
2[Option ID=4730]
3[Option ID=4731]
4[Option ID=4732]

Sl. No.34
QBID:185034

SHMIY SR & GRIAT ‘gD cH &l THiid AIcdhT IHId ol Tl SUIDIRd Alcdhi I BIuie did
AT Helld?

R S e
K ICEEIEg
.G Il
4, UHTHR 3MTHRTd AR
(1) 1
(2) 2

3) 3
(4) 4

[ R O

1[Option ID=4733]
2[Option ID=4734]
3[Option ID=4735]
4[Option ID=4736]

Sl. No.35
QBID:185035




Tordid Ueb foamr &1 QRdbidedn sRUTE! SRITd Wg=a1 b Rid Sfiq Adl 2

1. Flch
PAGINGID]

3. el
4. ATADIAT
(1) 1

(2) 2

3) 3

4) 4

1[Option ID=4737]
2[Option ID=4738]

3[Option ID=4739]
4[Option ID=4740]

Sl. No.36
QBID:185036

YT, A<, Hal 1 Ul YRRl a3R bR [Wa=] Aledhiddl oiid H{d?

1. IET0T SHivTTet
2. T1E SAqHE!
3. 1ufl qit S+, gur--
4. 3T TP gl Pl

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=4741]
2[Option ID=4742]
3[Option ID=4743]
4[Option ID=4744]

Sl. No.37
QBID:185037

GSdiich ARIHTT WO Uil d S1SaT IS 3 Felld AP YRBR Hicsel 2

1. Avidel

2. TP AR 5
3. 3fHl Th R ARTSd 3l
4. WEHNTR UH d

o 2

(3) 3

(4) 4

1[Option ID=4745]
2[Option ID=4746]
3[Option ID=4747]
4[Option ID=4748]

Sl. No.38
QBID:185038

ghad faedl YOIl Bidd el Al 9o dadi?
TP 419 a3 feeg eyl ot

gad] a1 TRl

e Bt HrggLiE

1. g™l /R
2. GUbid ferti
3. ATET 3y
4. AT Tl XU




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4749]
2[Option ID=4750]

3[Option ID=4751]
4[Option ID=4752]

Sl. No.39
QBID:185039

febxde’ gl Diddl Sial HIuTal ST diehT W=l 98l Hiigd SfbTeHIEl YRBR BIdl Srdl 2

=1, 1. BATs - 2010

1
2.9l |1, RI&aT - 2011
3. ol &, HIEY - 2013
4. 519 BTSN - 2009

1) 1

2) 2

3) 3

4) 4

1[Option ID=4753]
2[Option ID=4754]
3[Option ID=4755]
4[Option ID=4756]

Sl. No.40
QBID:185040

“HITRT H1S 31T Gt H1ofh gf gEdehi oIl HedTd?

1. Yedlie e

2. AT @

3. AW WA
4. A&HURTE WY

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=4757]
2[Option ID=4758]
3[Option ID=4759]
4[Option ID=4760]

Sl. No.41
QBID:185041

AR &I faeri foeara:

faem 1 : st daeam 99T, 33 g Bl

[T 11 - SHTITAT-gIcTen Gaf TTSiidr, Gacc o JTH! Hisgid grald.
qgd [deH=a1 HERM Yhged] yaigidqe widl df gaig 4=

1. fqer 1 31t faum 1 RISk
2. faur 1 ot fae T g

3. fau I RIR Gy 1 g
4. fqur T 1 9 fdurT o SRR

1 1
) 2
(3) 3
(4) 4

1[Option ID=4761]
2[Option ID=4762]
3[Option ID=4763]
4[Option ID=4764]

Sl. No.42
QBID:185042




HER <l fayri feara:
faerT1: 1. ofifiradi=g T ofi-i iRy drelsl givh uAbIRd=a1 HeoR URTEH fd.
AU 11 : SR YEAUIHR 31 3 A1, 7giaR] givil Al dligdr=al HeoR WU ARTGH fadi.

T [aEH=aT SERM ISl Yaididal Bidl 9l 9aryg d=rd:
1. T991 1 31T [T 11 sRie)

2. fae 1 ot fae T g
3. fquM 1 IR U= 1 I
4. fa4™ 1 9 fu 1 SRIaR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4765]
2[Option ID=4766]

3[Option ID=4767]
4[Option ID=4768]

Sl. No.43
QBID:185043

HER < faei foera:

(e 1 : RIAT PlesaBR gl “HYaTh] T HldadRATHS aRUTdal URE! Bl GaleR Fdl=<T ST SATfRree
Tch {371,

fae 11 : }fiell PISIHR gl “YT=1h | g1 AfckT=RATED sRUTddl Hesdl g1 e d HH HIUl H-1Y
37T,

Tt A=A SeRE Yh gl yaiaiadl Hwial df 9afg 94ard:

1. faur 1 31t faur 1 SRR
2. faur 1 ot fay T 9
3. fauM 1 IR fAy 1 g
4. fauFT 199 fay™ o SRR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4769]

2[Option ID=4770]

3[Option ID=4771]
4[Option ID=4772]

Sl. No.44
QBID:185044

AER &I fayri foeara:
a1 : wickan, fordt, gfsymmmardt st dobiRe fdaRyudidea del Sar, JeU™RS! diepy

RYUIT 3 =7 -gar ot Ghe1 fheeedr.
fdT 11 : @icid BTeg FgureT ddl 3idid B ‘PHIod-Audiardl SR LR YHIT Hierdt

TR PTod Slebip s fGHdTd.

et A= HeRE Yhacdl yaiaiddl widl df 9afg 94rd:

1. T 1 ol fdem 1 SRR
2. faur 1 ot AT g

3. fauM I RIR f[Gu=T 1 I
4. fu 199 fayM 1 SRR

@) 1
) 2




3) 3
(4) 4

1[Option ID=4773]
2[Option ID=4774]
3[Option ID=4775]
4[Option ID=4776]

Sl. No.45
QBID:185045

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : o3I Hfgd FHTSI=AT AT ARTUDI (< IHHER Gasidl,

Reasons R : TieT Hifgdid dfeld Aiigcdidd 9aed Uidsardd Aiigcd =i %0 A,

In the light of the above Statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

1

) 2

(3) 3

(4) 4

1[Option ID=4777]

2[Option ID=4778]

3[Option ID=4779]
4[Option ID=4780]

Sl. No.46
QBID:185046

HIT PTDHISHR gichl Afcseed H_,{\Lq?l{itél PIATYHIUT hH THId.

A TG I A

B. 81 71. U, U U B3 REPR
C. TG RHRMET GRS IREPR
D. T IR

E. HId I 3bIGH PR

Choose the correct answer from the options given below :

UJI‘-JI-—*
SRRl

poOw
esMes i -—w!

@ > U O
ammp

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4781]
2[Option ID=4782]

3[Option ID=4783]
4[Option ID=4784]

Sl. No.47
QBID:185047




HER feeedl IS vl A1 BIarfshH drild:

A. FSA T il <gfvsyH faeyar 81 o9 UUg Iudel® gredl

B. gioid H@sll giidl ‘Tdsy H ferexd] fgxedl 3iig SiUsar gl o 4Ug YbhIRId Siral

C. gford Hoif gl Jurfed Sedl @ smrafsan s 3iUsaH [iedar g1 o dUg UabIRid il

D. RS X gt faeedl faemdisia ‘durice 3usa fad=R SEIffuRr (c1LA) o 3g4red dd

E. 3P &9 3 RIMRSAR a9 givh Yurfad sl ‘drRide feed=R: [ad Jivs gldey uRig Sl

Choose the correct answer from the options given below :

1.C,D,E.A B
2.B.A,C,D,E
3.A,B,C, D, E
4 A,B,D,C.E

11

(2) 2

(3) 3

(4) 4

1[Option ID=4785]
2[Option ID=4786]
3[Option ID=4787]
4[Option ID=4788]

Sl. No.48
QBID:185048

AGR f&oean R Aifec RaT=il Heiferd Yy SIerHpH A

A. TIREY 3{ddld
B. HIATADR
C. Tod HIHT
REIIERICEICEE
E. BT UPHT

Choose the correct answer from the options given below :

1.A,B.C,D.E
2B, C,D,E A
3.B.C.A.D.E
4.A.C,D,E,B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4789]
2[Option ID=4790]
3[Option ID=4791]
4[Option ID=4792]

Sl. No.49
QBID:185049




et BT UBTRHTE! BIellRed shH drld:

A. FerofEy siie Hidull ods Ue & ered St (e~ =i
B. HTHTH

C. &I B s Pl

D. & DIpUll 308 DIHUl eids

E. 3-diguid 3fig e Fres disull-gdie

Choose the correct answer from the options given below :

1. E,D C,B.A
2.A,B,C,D.E
3.3E,D,C,A. B
4.D.E.C,A B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4793]
2[Option ID=4794]
3[Option ID=4795]
4[Option ID=4796]

Sl. No.50
QBID:185050

TIABIUAI IarS Ul GETYHIT shH A

A, e 9

B. TRYRdd! TSI
C. gredie

D. arcddl diel
E. Hi-t a1

Choose the correct answer from the options given below :

W =
> mwo

monp
WP 0
N WMo
A Jm

=

(1)1
() 2
(3) 3
(4) 4
1[Option ID=4797]
2[Option ID=4798]

3[Option ID=4799]
4[Option ID=4800]

Sl. No.51
QBID:185051




“SIPIUHME! dT” g1 (H6e SIedrd HIaulidal SIdR’ gl Hdarded= STAdRI=A1 Yol HderE]
hH AId-

A. TUd! AR - Gie fHdg
B. S8R 3R - UldloA]
C. faR 3mgdR - gl
D. 1T TR - §g-2id
E. Ur=al 3aaR - f&=st

Choose the correct answer from the options given below :

1.B.C,A.E.D
2.E.D.B.C.A
3.D,B.C,AE
4.C,B,E,A.D

(1)1

) 2

(3) 3

(4) 4

1[Option ID=4801]
2[Option ID=4802]
3[Option ID=4803]
4[Option ID=4804]

Sl. No.52
QBID:185052

IR didiadR gl Alehi=d IoaraauE! I wH gg=n

1[Option ID=4805]
2[Option ID=4806]
3[Option ID=4807]
4[Option ID=4808]

Sl. No.53
QBID:185053




TR =ARI g1 Aledh =] IoiarsIauid] gy hH Gadl?

A TYEIH

B. UshT o1 f[aaR=1 geard
C. P10fl Udh HIURIT

D. Y&l didd! dRi S iddl

Choose the correct answer from the options given below :

1)1
(2) 2
3) 3
(4) 4
1[Option ID=4809]
2[Option ID=4810]

3[Option ID=4811]
4[Option ID=4812]

Sl. No.54
QBID:185054

dDhich Hicseedl Hifed SHBTCH! YIEDHRIG! di=aT HTesl YHIUN shH dTdId-

A GigaT HiFl

B. HAIeRM WU

C. A1y iR 3 Bl
D. GG Al

E. qdRTH G cUIDR

Choose the correct answer from the options given below :

1. AC,D,B.E
2.E,A.B.D,C
3.B.D.A.C.E
4.E.B,D.C.A

(1)1

) 2

(3) 3

(4) 4

1[Option ID=4813]
2[Option ID=4814]
3[Option ID=4815]
4[Option ID=4816]

Sl. No.55
QBID:185055




dlbb = HooR JoldISid el g%ddﬁitﬂ e 3SIaTSIqul=ar gl WHIvT s ST

A, TTIT=T didhdard] TUHR
B. didfdd

C. A

D. MHdP T dlhddl

E. Hid0N IGUlIR (Tgel 1a)

Choose the correct answer from the options given below :

1.D, A BE,C
2.A,C,. D, E;B
3.B.D,C.AE
4 AE.D.C,B

11

(2) 2

(3) 3

(4) 4

1[Option ID=4817]
2[Option ID=4818]
3[Option ID=4819]
4[Option ID=4820]

Sl. No.56
QBID:185056

Match List I with List IT

fde 3id ol i Ioarstlt a9 =gl wial i Sisal |rd:

el T
| SesE R | L 1977
T (I 2013

GIEI Gl B 1973
Shgry [ 1v 2014
V. 1992

o|o|w|>

Choose the correct answer from the options given below :

1. A-II, B-1, C-V, D-III
2. A-IIT, B-V, C-1, D-II
3. A-II, B-1V, C-1I1. D-I
4. A-V, B-1V, C-1I, D-III

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4821]
2[Option ID=4822]

3[Option ID=4823]
4[Option ID=4824]

Sl. No.57
QBID:185057




Match List I with List IT

HleaR]” 3l ‘aRIaul gi=dl BIdl dl Siisdl drdrd.

LIST 1 LIST I
gigaqurd | L | gagar®
s930m | IL | dar Y SR$R

g IIL | 5 @1 P

BaH IV, |3{a8d PR

ola[wx

Choose the correct answer from the options given below:

. A-ILL B-1, C-1IV, D-II1
. A-III B-1I1, C-IV, D-1
CA-TV. B-III, C-11. D-1
ATV, B-ILL C-I1, D-II1
(1)1
(2) 2
(3) 3
(4) 4

e D =

=y

1[Option ID=4825]
2[Option ID=4826]
3[Option ID=4827]
4[Option ID=4828]

Sl. No.58
QBID:185058

Match List I with List IT

Sl A, gidl 3’ DU BT - Al U Ioiarsvi! ~HTes! gi=dl Trdl Tl Siisdl
IRIGE

LIST1 LIST II
AT fgardl afim (1987 | L ECSER]
|-l aH@T i (1987 - 88)f 1L HIIGY

TSI gadl 3fid (1982) | IIL BRI
PR fearal 3fid (1980) [ V. Hia
V [EedTR T I

ofof=]x

Choose the correct answer from the options given below:

1. A-II. B-V. C-1, D-III
2. A-IV. B-1, C-1I. D-V
3. A-III, B-IV. C-I1, D-1
4. A-V, B-1, C-I1, D-III

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=4829]

2[Option ID=4830]

3[Option ID=4831]
4[Option ID=4832]

Sl. No.59
QBID:185059




Match List I with List IT
YR T1fe IREId e Yafad 21fed St o1 diEl fediau gi=a a1 Sisdl arna:

LIST I LIST I
ateq | L | udmeey
dA<easd |0 | Taigaem
b |0L| FudpwEdl
R [1v. | Iepigwr g

Choose the correct answer from the options given below:

ola[wx

1. A-I, B-1I, C-1II, D-IV
2. A-1IV, B-I1I, C-I, D-II
3. A-II, B-III, C-TV, D-I
4. A-1I1, B-1V, C-11, D-1
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4833]

2[Option ID=4834]

3[Option ID=4835]
4[Option ID=4836]

Sl. No.60
QBID:185060

Match List I with List IT

Hd feeed] GiIhi=dl 3l dae gi=dl U1 Siisdl a/Mmd

LIST I LIST I |

_ [Pieuht Yt s 1 [@Aaredl 3d oRiae)|
thic Ul U] | HAIRUYR

Uil Wied el |0 | =iar gEsueRr
hieU |UErR | IV.| Ugds f&am

o|o|w|>

Choose the correct answer from the options given below:

1. A-IV, B-III, C-I, D-II
2. A-IlL, B-1, C-1I1, D-IV
3. A-II1, B-I1, C-1IV, D-1
4. A-1, B-IV, C-II, D-IIT

1 1

(2) 2

(3) 3

(4) 4

1[Option ID=4837]

2[Option ID=4838]

3[Option ID=4839]
4[Option ID=4840]

Sl. No.61
QBID:185061




Match List I with List IT

AlCDhDR I di=dl ATl gi=al Qi Sisdl Ardid:

LIST1 LIST I
. [eag sidiear| I [dees gad o
cdicgeEEy | IL fexerd
YT dlayd | IL ECESEN
SfgRr=ad |1V HadTly
v. | =iiore Ta

EIREIE

Choose the correct answer from the options given below:

.A-IV. B-1, C-II, D-III

AT B-IIL C-II0, D-IV
.A-IV, B-V, C-1II. D-1

CA-IL B-I, C-IV, D-V
(1) 1

(2) 2

(3) 3

(4) 4

d D —

I

1[Option ID=4841]
2[Option ID=4842]
3[Option ID=4843]
4[Option ID=4844]

Sl. No.62
QBID:185062

Match List I with List IT

THID! M THiD PR gl Wd® Sedl Wg=a1?

LISTI LISTII
et v gw ar 1 | Auged sRer
GRIES | Sdradd
U 36 I I (111 | 3EMH SHEd
CERGE IV RHA$YT SaR®R
V.| WRdTES

olo|w|F

Choose the correct answer from the options given below :

. A-IL B-IIL, C-V, D-IV
.A-IIL, B-1 C-I1. D-V

. A-III, B-1V, C-I1, D-1

.A-I B-1I. C-III. D-IV
(1)1

() 2

(3) 3

(4) 4

b D =

e

1[Option ID=4845]
2[Option ID=4846]
3[Option ID=4847]
4[Option ID=4848]

Sl. No.63
QBID:185063




Match List I with List IT

PHiddl G, did IoarsIquid ad {1 YebTRH =il Hiele Sisdl |

LISTI LIST 11 LIST III
Al sE@as |L 1995 V1. ST YBTEH
B| ®s@s [ 1999 VIL HIPBIUD] IRDR
c| mm  Jm| 1931 VIIL PBNR YPIEH
D] wmm  |iv] 1980 IX. RS UHTEH
v 1985 X. HANR YPIEH

Choose the correct answer from the options given below:

CA-I-X, B-TTII-VI, C-II-VII, D-IV-VIII
CA-TT-IX, B-II-VIL C-I-VIII, D-I-VII
CA-I-X, B-II-VIL C-IV-VIIIL D-III-VI
. A-IV-X, B-II-VI, C-III-X, D-I-IX

(1) 1

(2) 2

(3) 3

(4) 4

o D

I

1[Option ID=4849]
2[Option ID=4850]
3[Option ID=4851]
4[Option ID=4852]

Sl. No.64
QBID:185064

Match List I with List IT

AR {deedl Hiqdi=dl gt 311t qid Wi gl Ui Sirsdl A,

LIST I LIST 1T
A |3 81 T1orgcli uTfe SRE FEYEE-] W Udl 1RGd STyl RN YT gadid arg deal Wiy agaad]| L |48 gl
B. [{lid 5ol SieH Ml RIddb ! Wi el T 3 Ydell gl YsaidedH | 1L [E® T S|
C. [Hal didbidds daurd e S $idi<d/gididal gRE! T Y Hhedl | 111 el B
D. [q geidi gsll -idai/dd Gaved be Urdall Bedll STt fereal Kai| IV, [Iaslrdl Wl
V. [grRHl

Choose the correct answer from the options given below:

. A-II, B-1, C-V, D-III
.A-I B-1I, C-V, D-IV

. A-IIL B-1I, C-L, D-IV
. A-IIL B-1, C-II, D-IV
1) 1

(2 2

(3) 3

(4) 4

b D

e

1[Option ID=4853]
2[Option ID=4854]
3[Option ID=4855]
4[Option ID=4856]

Sl. No.65
QBID:185065




Match List I with List IT

Pipuilddl dagd Iavi -1 didl Heardl HIY gi=dl Jrele siisal drid.

LIST I LIST I
3] I |29T, 2ugid
udie | I [9ge, degdl

BRI | IL | FHE1 iR
giem [1v | TEd. e

ofafw]s

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-I
2. A-IIL, B-1V, C-I, D-II
3. A-II1, B-IV, C-I1, D-1
4. A-I, B-1I, C-1II, D-IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=4857]

2[Option ID=4858]

3[Option ID=4859]
4[Option ID=4860]

Sl. No.66
QBID:185066

G, Tl QU a=iA <Pierd, Bredr= g41 Idid! STd i,

A. BT AT 3T Ta-ATE! [G2=IoT 37T

B. i febarr fa=i=rori=i fa=i=ron s{rard.

C. gl [a=I=uIigra- =1di Siia- drserd.

D. gl fa—r=ruriara deidi fopar fa=i=n v«

E. GO & T [a=I=I0l SR <wgiiel, gl gf Jra-Hed [a=ieron Sia S,

Choose the most appropriate answer from the options given below :

1. A, D, E Only
2.B.D, A Only
3.A,B, C Only
4.C,A, E Only

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=4861]
2[Option ID=4862]
3[Option ID=4863]
4[Option ID=4864]

Sl. No.67
QBID:185067




<l 3Red AR Higdl’ 3Tl <8 de i ANl gl diaid-

A. TR g1 gt favedt

B. “dcT gl foadl fawedt

C. ‘DUl GG 3T Pl USel § GRAgUl Heareh «3HfUH0p IUrerd.

D. ‘R 3T g g b IR 3171 Fa faHedi=l i S (4.

Choose the most appropriate answer from the options given below :

1. A, C,D Only
2.A,C EOnly
3.D.E, B Only
4. A, B, C Only
11

2 2

(3) 3

4 4

1[Option ID=4865]
2[Option ID=4866]

3[Option ID=4867]
4[Option ID=4868]

Sl. No.68
QBID:185068

Fide wifeen fagh ol wudn

A. THdie gifig U= Sleasrera Teldd §3dc Hosel,

B. HToAUY AT FgeAR Hde 31 =+ FordId.

D. “Ga&iTH dafi=arr= faeherauil or=ff fear oarea &% g,
E. AldEl® TE-rd fHeg 8 3R arrdrd,

Choose the most appropriate answer from the options given below :

1. C and D Only
2. D and E Only
3. Aand B Only
4. A and E Only

)1

(2) 2

(3) 3

(4) 4

1[Option ID=4869]

2[Option ID=4870]

3[Option ID=4871]
4[Option ID=4872]

SI. No.69
QBID:185069




Al STt HYUT STdal B Sl GRBYUI YT, T Y Arehulf 3= FiTdrd.

A. TYHUT I AfKIRE T ST YR UMD NS 3T AR H1RIeed AT,
B. U9 Uos R & Hid AT aiTed (G,

C. A 3Tt Tl Sifor g<F SRTi= fa=rT ST,

D. AYH Y] AU ok "L SITdl STedR feif=rATd HIe Siil.

E. qgHAddl [Hdead W ANl IR Afdar=Td Hdad difge! 3.

Choose the most appropriate answer from the options given below :

1. Aand C Only
2. B and D Only
3. C and D Only
4. B and C Only

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4873]
2[Option ID=4874]

3[Option ID=4875]
4[Option ID=4876]

Sl. No.70
QBID:185070

Aferd Giigdnagil 2l g ANddR BUerd-

A. Db uildd dferd Fifgd Jura<- 9aedi igsar 1.
B. Db Uilded dferd Hifodrdl HHaT § a1 arsel.

C. dfed Arigdbdl g1 U Dbl FgUI AT HIED fdada o,
D. SipUil dferd Hifgdrd S99 gretl IRl Ucd FgaAR Hidh Uil ATl 3Tel AIqddedr dideet! ad.

E. DIl Siddd My drarart Hiddr s FH1ud 3.

Choose the most appropriate answer from the options given below :

1. Aand E Only
2. B and D Only
3. C and D Only
4. Aand C Only

1

() 2

3) 3

(4) 4

1[Option ID=4877]

2[Option ID=4878]

3[Option ID=4879]
4[Option ID=4880]

Sl. No.71
QBID:185071




PHIB Ul HIRT BB U HIUT YR Uldal g (920 3/ f[ddR Higerd-

A. DIBUT 1T & 31 Paaiaed! HIRT YA fdiid Dipuliq Add g SR Posidd afd anf.
B. DIHUI HIRMT IHIT DG gredl 32 e,

C. DIBUI HIRN 3R Poiael aRd Z1ids Ppeoidal.

D. 31 Albi-il BB AT dlex A eedl Tl HIHI gl

E. 21 |l SIbulid Td-1 HIhUil YR Uad AR,

Choose the most appropriate answer from the options given below :

1. A3 B Only
2. B M E Only
3. C 3HI D Only
4. ASFIE Only
1) 1

2) 2

(3) 3

(@) 4

1[Option ID=4881]
2[Option ID=4882]

3[Option ID=4883]
4[Option ID=4884]

Sl. No.72
QBID:185072

e g2 diold gl Uy -

A. UTHY WH- giull 1622 aRET ISarSHd]

B. SISJdTd OTsd S[34id & Ugiol giufl 1660 a1 S Ioidrsgel
C. I STHTHAT iUl 1667 AT IWdrSHdl

D. f&aITT & SMHRT giUll 1654 IRET BYA IodISdd

Choose the most appropriate answer from the options given below :

1. A Only
2. B Only
3. C Only
4.D Only
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4885]
2[Option ID=4886]

3[Option ID=4887]
4[Option ID=4888]

Sl. No.73
QBID:185073




GHTSTA FaU[ehd HTRIeed] d1-d7e] did YbRided 471-diTed] Sl 9gd rddid U dibde
TSI S0 Ueh 37T Fg UL fordl 3rdr. § faur Siomed?

A WHNBR
B. Sidl A&
C. [39® WSHR

D. Uig¥ B Gd ™

Choose the most appropriate answer from the options given below :

1. AOnly
2. B Only
3. C Oaly
4. D Only

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4889]
2[Option ID=4890]

3[Option ID=4891]
4[Option ID=4892]

Sl. No.74
QBID:185074

STae AT SiTidel! YorTrdd fdepl arger )R-

A. 9965 I 9eHT YR
B. NI 311 dfos=e YRl
C. I 3T 98 YR

D. T 3 f[aaRdd YR

Choose the most appropriate answer from the options given below :

1. D Only
2. A Only
3. C Only
4. B Only
)1
(2 2
(3) 3
(4) 4
1[Option ID=4893]
2[Option ID=4894]

3[Option ID=4895]
4[Option ID=4896]

Sl. No.75
QBID:185075




P, . T, | ST Lo @ ST o & oI 8 dl =R HRIIS Sl adH-

A. P AT P g1 ST AHUTOT a7 YT SHARIHT
B. G 3 O gl oo AW SRl
C.? IR IEoR W €Ud
D. gidl 3R bl S

Choose the most appropriate answer from the options given below :

1. A, C,D Only
2. A, B, C Only
3.B.C,D Only
B.

4. B, D, A Ouly

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=4897]
2[Option ID=4898]

3[Option ID=4899]
4[Option ID=4900]

Sl. No.76
QBID:185076

HRA e dRRdrdl o Farese @ 3l WUd Guery dafoidig?

A, RIFAHE IG-HUG, HIHGTE! 3icieR

B. arHAH Jifd S9ar, sr-<qsd-rel @i duar

C. =Tl Tshidel UG, A=l 3T e

D. HAGET HfHTd TR, SETUTE] 39 YU

E. UTSaRTS ST QRRTHT SHerT, e WiHl=l Hidd duar

Choose the most appropriate answer from the options given below :

1. A, B and D Only
2. B, C and D Only
3.C,Dand E Only
4. A, Cand E Only

1

(2) 2

(3) 3

(4) 4

1[Option ID=4901]

2[Option ID=4902]

3[Option ID=4903]
4[Option ID=4904]

Sl. No.77
QBID:185077




ST g1 ukyT=ite T S0l 31T Bt Fafor sl
A. T BE

B. 1979
C. R M
D. 1989
E. 1880

Choose the most appropriate answer from the options given below :

A and B Only
. C and B Only
. C and D Only
.Aand E Only
1) 1
2) 2
3) 3
(4) 4

W b =

=

1[Option ID=4905]
2[Option ID=4906]
3[Option ID=4907]
4[Option ID=4908]

Sl. No.78
QBID:185078

A gRId G

B. WIS

C. HIa

D. HIT<R-HHET
E Q@

Choose the most appropriate answer from the options given below :

.A,D, B, E Only
.C,D, B, E Only
.A,B, C, E Only
.A.B, C,DOnly
1
) 2
(3) 3
(4) 4

b I =

i

1[Option ID=4909]
2[Option ID=4910]
3[Option ID=4911]
4[Option ID=4912]

Sl. No.79
QBID:185079




A. HITAd
B. AN
C. AIfiTdcld
D. #IfTdd

Choose the correct answer from the options given below :

1. Aand D Only
2. B and C Oaly
3. Aand B Only
4. C and D Only
1

) 2

(3) 3

(@) 4

1[Option ID=4913]
2[Option ID=4914]

3[Option ID=4915]
4[Option ID=4916]

Sl. No.80
QBID:185080

A. “GH gaT DIéali= sRiqUl SrHIHHAR dfciThR g1 311,
B. didesdd ‘A IR 98 g UT YR,
C. A I &1 3191 7Sl Behd €19 Yd= ATd .

D. dide e HdIh FaTd 3TeR e,
E. ‘ol g1 ARl SUIa=a] arg-id1 ‘god ] S,

bl fdecdl Ul T ST 997 DISid.

1. Aand B Only
2. B and C Only
3. Aand D Only
4. A and E Only

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=4917]

2[Option ID=4918]

3[Option ID=4919]
4[Option ID=4920]

SlI. No.81
QBID:185081




YT Fifgd AR

A. ST o1 FcdH] FgodR sRIqy
B. HYd USU[d] UDHd HHA dddh oY
C. HYT g1 B T HARIE DU 37T 4q01 g1 WIS Uil RN Il

D. HUT Behd $YU gl Uhd U HEIAd]
E. ®YI g1 UIigAYDHR @YU id HARIT=A1 HTh HAdd AT,

Choose the correct answer from the options given below :

1. Aand B Only
2. C and D Only
3. Aand D Only
4. C and E Only

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=4921]
2[Option ID=4922]

3[Option ID=4923]
4[Option ID=4924]

Sl. No.82
QBID:185082

a8 B4 gicharyard &M, d SRl giTdr 31l SR drdl S0l USel didbl-

A, Fdl

B. ®H

. fagrror

D. fobar fa=reror

Choose the correct answer from the options given below :

1. A and B Only
2. B and C Only
3. C and D Only
4. Aand D Only

1

(2) 2

(3) 3

(4) 4

1[Option ID=4925]

2[Option ID=4926]

3[Option ID=4927]
4[Option ID=4928]

Sl. No.83
QBID:185083




b HD feharaerl qui sresidl favre fdire Sui SiTdr ST -

A. GhHG fharuerd quidiedl ¥4 ST fefiT oIl g=- gi=l JH10) S,
B. A 5d dI8el 31 Hal aux f[aHadid adl

C. gHHS fsha1ue 2quf H1adt Sdrd
D. 3fbH® fsha1dg igd Hredl Srdid

Choose the correct answer from the options given below :

1. A and B Only
2. B and C Only
3. C and A Only
4.D and B Only
1

) 2

(3) 3

(@) 4

1[Option ID=4929]
2[Option ID=4930]

3[Option ID=4931]
4[Option ID=4932]

Sl. No.84
QBID:185084

JoTeHD Mg ATRITId  HTRRAT S faTs T ivd:

A. “3MTIUYA’ (Content) 3T “HATUR® (Source) Bl FT IERT FIa fdiTs 311d.

B. ‘AN HATUR FUD T USU; TR “HAURT'S ARG 3 1gUjh dd 1.
C. JaTYR [FRa¢ Yo Srd ¢35 YR fea.

D. HTaI, faaR 3t o701 22 § Srgyddrd! SMRagEe e fad.

E. TG 31! HATUR gl U1 gerdl &P A1,

Choose the correct answer from the options given below :

1. B and C Only
2. C and D Only
3. D and E Only
4. A and B Only

w1

(2 2

(3) 3

(4) 4

1[Option ID=4933]

2[Option ID=4934]

3[Option ID=4935]
4[Option ID=4936]

Sl. No.85
QBID:185085




Sile 98 9O 3Wdy 31 gd-sd! 9O 39dY g 3dxdd-

Afqggay ;oo
B. fdqa TR : W@
C. odfdga @R ;<3P I
D. Hqd W ;& ST
E. HUqa @R ;<3 Sl

Choose the correct answer from the options given below :

1. Aand C Only
2. B and D Only
3. B and C Only
4.D and E Only

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=4937]
2[Option ID=4938]

3[Option ID=4939]
4[Option ID=4940]

Sl. No.86
QBID:185086

MUIST Zdd GRYMUS giied «HRIR TliedRIRAld Ty BRI {12

A. HRA Aiig AR fAb Bl Siicll § AbJGuunH Jr= gaiuld Jivei

B. “HRGIY g IR FETUT, [aRe=107 311 Sei=10T g1 UT=1 Iaxiefd sl

C. YR AIe =R 3T 3Rxid HTig A= [l fdaR YRR QiR =1 SoRidid Hisdl.
D. HIHATE ITCRIRe’ 3711 SR Ieed Uiy gidt oot Iuriefd el

E. T "Iy 31+ feuiferei= gi=an faaRi= SRy YRy Qifg a=IReid $edTd dddl.

Chooze the correct answer from the options given below :

1. B and C Only
2. D and E Only
3. Anad B Only
4. Aand E Only

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=4941]

2[Option ID=4942]

3[Option ID=4943]
4[Option ID=4944]

Sl. No.87
QBID:185087




fohaTTeTe® U Heo ST,

A. T HeaTh ATH T fa=I=ror wgorerd

B. T AP ¢Tq FgUleld.

C. 1 HBTAT fhuTde] Hiad $ied daagd Ul

D. “Hiud” gl fsharaide U 7Teoad FgUIehd 4Iqydey 3l
E. d U AR UP T2 €4

Choose the correct answer from the options given below :

1. B and C Only
2. C and D Only
3. Aand B Only
4. B and D Only

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=4945]
2[Option ID=4946]

3[Option ID=4947]
4[Option ID=4948]

Sl. No.88
QBID:185088

(3) dodd
(3) dodedd
(3) dochid
(%) dBleedr
(Q) dobos

Choose the correct answer from the options given below :

1. A and B Only
2. B and C Only
3. C and D Only
4. A and D Only

1) 1

2) 2

3) 3

(4) 4

1[Option ID=4949]

2[Option ID=4950]

3[Option ID=4951]
4[Option ID=4952]

Sl. No.89
QBID:185089




fae B ¢ Iharuerd &M, d Sird [aRi] IRTdr, arl 3 drd BRI SR UHId USel didb]
UGG

A &dl

B. &H

C. fa=rgror

D. fbarug

E. fayait-veg

Choose the correct answer from the options given below :

A and E Only
. A and B Only
.Band C Only
C and D Only

LTS O T

v

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=4953]
2[Option ID=4954]

3[Option ID=4955]
4[Option ID=4956]

Sl. No.90
QBID:185090

PHIHUINT 3 TR Al R IS,

A. 3 91 TR YU ST STl =41 3 @ Jadd 31 =] GUlerd,
B. 3" 91 IR YUl SITed! AT =T <308 HI- <30 3R] I,

C. <30 I 3AfSedl IR ST LT 37D 3fS¢ 3 U

D. “3f, T (T) 3T 31" 51 i Wi “ i Iha” TR 32 gorerd

Choose the correct answer from the options given below :

.B, C,AOQOnly
. A, B, C Only
.D, B, AOnly
. D, C, B Only
1) 1
(2 2
(3 3
(4) 4

e L B e

1[Option ID=4957]
2[Option ID=4958]
3[Option ID=4959]
4[Option ID=4960]

Sl. No.91
QBID:185091




fee IART AT U=l Sl feard-

R AU S STHHT HIad TSauT faqdl. ThTEl T AT o quTd SOee i af 3l T 3 3fal
U 32 Tl Sl f[GHdr. Thgauun- MHR e Harestit st fawe st sidre o foiadt
gisiel o] Seb= iR f-1efef detdl oIl e Waeg 3y, di=ar < quIle HI Hdld, gldlid-11h Uledul-
qo3161 §Td, ARTR JeadTd =T QIRRIRT=A] g qUlle oiiid dr d dedl ddl dR=l TSl Sidl UhIgHl
HHDTR ATs-T[SH YR ST, aA drdl 0GR STigecd]-airg] S ST,

JIHM Predide g Uil RIec 31S Usld FoT ATe-Udi=al diaid fiRIcell Glaedis oI SR
GRIST 31t XTact [g-f=at feafafess et grerad S didded xRl [&eH Mared Wlid siadi=r
I U AGdId. IAGDID 5l JG-1531 FgodR T DIevl ST Furar F=ar e, giddedl &
e e S gdi=an Is1adqun af fdaaiid Jme=ar Sunegur fd d1s 3madid, Tb dcd fde,
TR A 3TSd Hosd<R g A1e-Udl Ug IXdId, S fbdel=l BIdct 32l SiIdl b Bid Hosldl IuRid
Hig-Rad-T= S 31 Bg o) Ale-Ydll gsad SR ¢l STdid. dd Y31 J-=1 ok YU 7 SRIgH
dTcid T HRUTEN 3R gl 92l fdgu-gosfRiearit uul 54, @id @<d SRIqU! 3 saRad-ia 3l dl R
HRSY d1hT el gITSI-Ide #gU] o,

=T FRUG=E F0m, f57< 9dl #21ih HUS Hescl Sd, i Sgad v Si=f T Toldli=R goll
HIaT AT, ISTaquUIH siasidd gl o’ fague YR Sidd arTedrd Sl drd YeaH s=afd gsurdy A,
RO foidel gid Sraddi a1 fHareasi, @i drE BIe e a¥df=3 od ol AP & d¥ ATl sl ol
SUUI B gl gd, O UHAIARd gd 3dl 1 dURT TR 3d drsiaurel. SH! URUMH 381 Bl A1
TN g1 S of T ¥ Rl qHl.
ford T gad I5qur fegarnr

1. 59Ul
2. 3al H 3i sl gL
3. ORTdT
4. TIRugi= gor
& 2
(3) 3
4) 4

1[Option ID=4961]
2[Option ID=4962]
3[Option ID=4963]
4[Option ID=4964]

Sl. No.92
QBID:185092




fee IART AT U=l Sl feard-

R AU S STHHT HIad TSauT faqdl. ThTEl T AT o quTd SOee i af 3l T 3 3fal
U 32 Tl Sl f[GHdr. Thgauun- MHR e Harestit st fawe st sidre o foiadt
gisiel o] Seb= iR f-1efef detdl oIl e Waeg 3y, di=ar < quIle HI Hdld, gldlid-11h Uledul-
qo3161 §Td, ARTR JeadTd =T QIRRIRT=A] g qUlle oiiid dr d dedl ddl dR=l TSl Sidl UhIgHl
HHDTR ATs-T[SH YR ST, aA drdl 0GR STigecd]-airg] S ST,

JIHM Predide g Uil RIec 31S Usld FoT ATe-Udi=al diaid fiRIcell Glaedis oI SR
GRIST 31t XTact [g-f=at feafafess et grerad S didded xRl [&eH Mared Wlid siadi=r
I U AGdId. IAGDID 5l JG-1531 FgodR T DIevl ST Furar F=ar e, giddedl &
e e S gdi=an Is1adqun af fdaaiid Jme=ar Sunegur fd d1s 3madid, Tb dcd fde,
TR A 3TSd Hosd<R g A1e-Udl Ug IXdId, S fbdel=l BIdct 32l SiIdl b Bid Hosldl IuRid
Hig-Rad-T= S 31 Bg o) Ale-Ydll gsad SR ¢l STdid. dd Y31 J-=1 ok YU 7 SRIgH
dTcid T HRUTEN 3R gl 92l fdgu-gosfRiearit uul 54, @id @<d SRIqU! 3 saRad-ia 3l dl R
HRSY d1hT el gITSI-Ide #gU] o,

=T FRUG=E F0m, f57< 9dl #21ih HUS Hescl Sd, i Sgad v Si=f T Toldli=R goll
HIaT AT, ISTaquUIH siasidd gl o’ fague YR Sidd arTedrd Sl drd YeaH s=afd gsurdy A,
RO foidel gid Sraddi a1 fHareasi, @i drE BIe e a¥df=3 od ol AP & d¥ ATl sl ol
SUUI B gl gd, O UHAIARd gd 3dl 1 dURT TR 3d drsiaurel. SH! URUMH 381 Bl A1
TN g1 h S of T ¥ Rl qHl.

JATGHID DI {7 S

1. Yf5ai FgoR fARad] dieaiqur
2. SV FgR HIdd 35igu]
3. fadeflda =1 Uy
4. GO ot BRifdeear
1) 1
2) 2
3) 3
4) 4

1[Option ID=4965]
2[Option ID=4966]
3[Option ID=4967]
4[Option ID=4968]

Sl. No.93
QBID:185093




fee IART AT U=l Sl feard-

R AU S STHHT HIad TSauT faqdl. ThTEl T AT o quTd SOee i af 3l T 3 3fal
U 32 Tl Sl f[GHdr. Thgauun- MHR e Harestit st fawe st sidre o foiadt
gisiel o] Seb= iR f-1efef detdl oIl e Waeg 3y, di=ar < quIle HI Hdld, gldlid-11h Uledul-
qo3161 §Td, ARTR JeadTd =T QIRRIRT=A] g qUlle oiiid dr d dedl ddl dR=l TSl Sidl UhIgHl
HHDTR ATs-T[SH YR ST, aA drdl 0GR STigecd]-airg] S ST,

JIHM Predide g Uil RIec 31S Usld FoT ATe-Udi=al diaid fiRIcell Glaedis oI SR
GRIST 31t XTact [g-f=at feafafess et grerad S didded xRl [&eH Mared Wlid siadi=r
I U AGdId. IAGDID 5l JG-1531 FgodR T DIevl ST Furar F=ar e, giddedl &
e e S gdi=an Is1adqun af fdaaiid Jme=ar Sunegur fd d1s 3madid, Tb dcd fde,
TR A 3TSd Hosd<R g A1e-Udl Ug IXdId, S fbdel=l BIdct 32l SiIdl b Bid Hosldl IuRid
Hig-Rad-T= S 31 Bg o) Ale-Ydll gsad SR ¢l STdid. dd Y31 J-=1 ok YU 7 SRIgH
dTcid T HRUTEN 3R gl 92l fdgu-gosfRiearit uul 54, @id @<d SRIqU! 3 saRad-ia 3l dl R
HRSY d1hT el gITSI-Ide #gU] o,

=T FRUG=E F0m, f57< 9dl #21ih HUS Hescl Sd, i Sgad v Si=f T Toldli=R goll
HIaT AT, ISTaquUIH siasidd gl o’ fague YR Sidd arTedrd Sl drd YeaH s=afd gsurdy A,
RO foidel gid Sraddi a1 fHareasi, @i drE BIe e a¥df=3 od ol AP & d¥ ATl sl ol
SUUI B gl gd, O UHAIARd gd 3dl 1 dURT TR 3d drsiaurel. SH! URUMH 381 Bl A1
TN g1 h S of T ¥ Rl qHl.

FRUGI G=0T fdvedn yrye (HHior Sl

1. HIER {120 HTH R Hoodl #g0l
2. A IS BU g B Ul

3. Ao UisTeTquI GHUl 6 750l
4. AURI Rt 3RYd arsigur urdd

1 1
) 2
(3) 3
(4) 4

1[Option ID=4969]
2[Option ID=4970]
3[Option ID=4971]
4[Option ID=4972]

Sl. No.94
QBID:185094




feedl IARI 9T =l STl feard-

R AU S STHHT HIad TSauT faqdl. ThTEl T AT o quTd SOee i af 3l T 3 3fal
U 32 Tl Sl f[GHdr. Thgauun- MHR e Harestit st fawe st sidre o foiadt
gisiel o] Seb= iR f-1efef detdl oIl e Waeg 3y, di=ar < quIle HI Hdld, gldlid-11h Uledul-
qo3161 §Td, ARTR JeadTd =T QIRRIRT=A] g qUlle oiiid dr d dedl ddl dR=l TSl Sidl UhIgHl

HHDTR ATs-T[SH YR ST, aA drdl 0GR STigecd]-airg] S ST,

JIHM Predide g Uil RIec 31S Usld FoT ATe-Udi=al diaid fiRIcell Glaedis oI SR
GRIST 31t XTact [g-f=at feafafess et grerad S didded xRl [&eH Mared Wlid siadi=r
I U AGdId. IAGDID 5l JG-1531 FgodR T DIevl ST Furar F=ar e, giddedl &
e e S gdi=an Is1adqun af fdaaiid Jme=ar Sunegur fd d1s 3madid, Tb dcd fde,
TR A 3TSd Hosd<R g A1e-Udl Ug IXdId, S fbdel=l BIdct 32l SiIdl b Bid Hosldl IuRid
Hig-Rad-T= S 31 Bg o) Ale-Ydll gsad SR ¢l STdid. dd Y31 J-=1 ok YU 7 SRIgH
dTcid T HRUTEH 3R gl 92l fdgu-gosfRearit Ul €4, Wid @<id DRiqUl o sraRad-a ol d $eER
HRSY d1hT el gITSI-Ide #gU] o,

=T FRUG=E F0m, f57< 9dl #21ih HUS Hescl Sd, i Sgad v Si=f T Toldli=R goll
HIaT AT, ISTaquUIH siasidd gl o’ fague YR Sidd arTedrd Sl drd YeaH s=afd gsurdy A,
RO foidel gid Sraddi a1 fHareasi, @i drE BIe e a¥df=3 od ol AP & d¥ ATl sl ol
SUUI B gl gd, O UHAIARd gd 3dl 1 dURT TR 3d drsiaurel. SH! URUMH 381 Bl A1
TN GT h S of T ¥ Rl qHl.

SIAT UBTEHT HIDTeR Aes-T[e [Hl UgR SiIdl, a1 fdbd SiTar?

1. ST TUTALRT SHieesdl-dige] J= Sildl
2. B HSId Hob HSdb Sl
3. 9@ g ST
4. FPRUg =1 =01 3meud drs el
1) 1
2) 2
3) 3
(4) 4

1[Option ID=4973]
2[Option ID=4974]
3[Option ID=4975]
4[Option ID=4976]

Sl. No.95
QBID:185095




fee IART AT U=l Sl feard-

R AU S STHHT HIad TSauT faqdl. ThTEl T AT o quTd SOee i af 3l T 3 3fal
U 32 Tl Sl f[GHdr. Thgauun- MHR e Harestit st fawe st sidre o foiadt
gisiel o] Seb= iR f-1efef detdl oIl e Waeg 3y, di=ar < quIle HI Hdld, gldlid-11h Uledul-
qo3161 §Td, ARTR JeadTd =T QIRRIRT=A] g qUlle oiiid dr d dedl ddl dR=l TSl Sidl UhIgHl
HHDTR ATs-T[SH YR ST, aA drdl 0GR STigecd]-airg] S ST,

JIHM Predide g Uil RIec 31S Usld FoT ATe-Udi=al diaid fiRIcell Glaedis oI SR
GRIST 31t XTact [g-f=at feafafess et grerad S didded xRl [&eH Mared Wlid siadi=r
I U AGdId. IAGDID 5l JG-1531 FgodR T DIevl ST Furar F=ar e, giddedl &
e e S gdi=an Is1adqun af fdaaiid Jme=ar Sunegur fd d1s 3madid, Tb dcd fde,
TR A 3TSd Hosd<R g A1e-Udl Ug IXdId, S fbdel=l BIdct 32l SiIdl b Bid Hosldl IuRid
Hig-Rad-T= S 31 Bg o) Ale-Ydll gsad SR ¢l STdid. dd Y31 J-=1 ok YU 7 SRIgH
dTcid T HRUTEN 3R gl 92l fdgu-gosfRiearit uul 54, @id @<d SRIqU! 3 saRad-ia 3l dl R
HRSY d1hT el gITSI-Ide #gU] o,

=T FRUG=E F0m, f57< 9dl #21ih HUS Hescl Sd, i Sgad v Si=f T Toldli=R goll
HIaT AT, ISTaquUIH siasidd gl o’ fague YR Sidd arTedrd Sl drd YeaH s=afd gsurdy A,
RO foidel gid Sraddi a1 fHareasi, @i drE BIe e a¥df=3 od ol AP & d¥ ATl sl ol
SUUI B gl gd, O UHAIARd gd 3dl 1 dURT TR 3d drsiaurel. SH! URUMH 381 Bl A1
TN g1 hS of T ¥ Rl qHl.

UHTS! AT 3YEE = &l d [Ggar

1. ISR FE+ graded
2. 3TATIAT g qUNd dided dRTdDd
3. QIcdU-d@&18] Jiddhd
4. YFBTR S-S 341 Sliddhd
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=4977]
2[Option ID=4978]
3[Option ID=4979]
4[Option ID=4980]

Sl. No.96
QBID:185096

et IART arT W=l Sl faard-

3N TTSTTcltdl ATSUT BT AT Hdich T Teiledifa=i= SUCRT HIqTE! AdI, dl SHrodid Hifged 3U
TH BRI, ARG dTeh] FiTaT= AT, WA HrogiT 151 IR =1 Aifa=Iard =i Uhre Toid drodid ddl
T ol Sliepgriieh ¢R=T9 T, AU Ddidh ¢RI fGqur= TRl .

ST A= WocTd] Sl T THHBHER [T, ‘Bl FgodR Ase1el’; 8§ sl TqY T HRD oI
I AT0f TLeYUIH HitTed. HIHG-GfUS [WY bl YU dl IGHTAMRARH g 0r0} 3Tl Sac dwld

b o Ued Ho IAET IHYERTH & a9+ lgd AR He 3™ dl He Hdld dauTaRid I9ad-all-iul-34 gl
HHT Sicel] Srodidal [dar [ ER g oM.

FHITHTTHART STddedT I8 TIREYUNH Udild SITdl, o o IHTHRIA (X)) 3T 1 T hlodid 19dd
SABR AT 3R HIHE GIUS 311 Jusc FEUIETd: SR BT YAIdR “Bif-d Aidr 707 37T STl
AT 312 Ted -1d AT 3 fEIdT: 3T 31 Prod T HiRed ST 3=} Tge Fgulel. Iad ol Uh
DR AIT: PIi= gl I[01 STHT; T8 &l DIour=l THIGUH I ATl 8l QR Hreavd Hididquur] Fdw
heal! ST, TEd e T Ad-BIi=TUI-3 g1 shHT DroicdiaRi=l fa=R Y&aaR Sird Tl 3= fagT dad.

TG Hlegdl HRIIP Wdadd BIAIBR gl Wdid AIaH ol [FRIded ARTdl. SfeidR gf Al
BIERTAG AT AT Sial I ATd U T ST Slideh dNTd. S PR, U1, 34 § IR AP
HU SIciPRE Sidd dNTd. HHGHAT UUid U1, ScdDbR 3El He 1. g8 dl dieb] AU TrEddl o

U gard 1.




HYcil TToTel b gl LR MR

1. TTolTel =il Sueq
2. PIoAd AT SU™
3. BN
4. Pdidb fdect grIoT

1) 1

) 2

3) 3

(4) 4

1[Option ID=4981]
2[Option ID=4982]
3[Option ID=4983]
4[Option ID=4984]

Sl. No.97
QBID:185097

e SART arT wai=l Sl feard-
QM ITSTel 1 ATSUT BT AT Hdieh AT TSTelifa=ii= IUcRT BT -T™dl, a1 SHredid Aifgel Iu™
JHI BRI, S=1Y dTeb] FRTAT AdT; WA BIogRT 3501 IRb =1 AifdIerd =il Tebre ol brodid A
T i Sllepdiieh ¢R=TT AT, A= hdidh ¢RI feaur= TRl 1.
ST (dd=H eard 311 T UHHBTER 3. ‘P TgadR Wsal2l’; g sard 9 Y o
=l AT TYREUUIH AT, HIHG-&USTd THY Hehol YU dl IGHTAIRA § WUl Sl Sgeld aerld
debdod e He IO YA adH & 9o gldd AR He 1. dl He Adid AGUTIrEd I9dd-DIi=H 0139 gl
AT Sicel] Srodidal [ded fdHER srgs o
TAHIHTTERTH STddedT I8 TREYUIH Ydid STdl, d 6ol TR (IYdd) MRl a1 1 Dhlodid 39dd
SHADR T 3= HIHG GIUS A Iesc FUICTd; 3= DlodTe IR DIi=1” Aidrd 77 ST; T
AT 372 Ted =Td THT 3 fSHAT: 3T 3 Hrod TH Hived 14T 32 Tge Fgulel. IHad &l Uh
AP . I Y 0T AT T &) Proaral aHTaersd S St & TraRi roa Sreauomat fid
el 3T, GTEId eI XA qound{;m-waHWﬁaﬂaﬁﬁﬁﬂﬁﬁaWQ&Hm ST el ST fegT Acrel.
AT cmouru HR1P WXdP PIATCISR &l WA A ol FRId drTell. iR el W
Bl A=l dred Sidl A A= AU 1= 9IS Slides diTd. $8H dbR, I, I ¢ UIdR s
U 3P R Siad dANTd. HHGTAT UUid Ul SAPR 3l Ha 1. ISy dl dreb] SAHYad Araaal 3Rl

gi g ’
PIuMTe fad=T ardl sl o+ 78 HER 3R

1[Option ID=4985]
2[Option ID=4986]
3[Option ID=4987]
4[Option ID=4988]

Sl. No.98
QBID:185098




feedl IARI I =l STl feard-
3R TTSTclt a1 ATSOl BT AT Hdidh T Teilelifa=i=l IUCRT HY=! Tdl, a1 SHrodid Hifsed 3™
THI BRI, 3R dTehT GRTUT 19T, WA B FgUT e a1 Ad-1a1d 3=l UPTg! TTSiTel hleaid ddl
T dff Sliepdriieh ¢R=TT AT, AU Ddidh ¢RI fGaur= TRl .
ST A= WscTd Sl T8 THHBHER AT, “Hlod FgoadR sl g sl T0Y T AN oI
3R ATVl T=REYU TS, HIHG-GIUSd IUY Yool YU dl ITHTAFRAH g FgUI0l ST SgeT= awd
debd o dd AT FAATH & 9o gldd AR He 1. dl He Adid AGUTIREd IHdd-DI=H 0139 &l
AT SlTca] Srodidal [dad [ HER grgs S
[GHTHTTHII STddedT X8 WREYUIH Wdid STl ﬁWWW(WBﬂGﬁT?ﬁR}TWW
HTUBR ST 3R HIHE &l A Ige BUIEld; 31=1 Bl {j,dlrtli SIi=cI” AAIaT 0T ST AT
AT 3721 PTe 1d ST S FT: S 372 predl T Hikee ST 3% T5e UL, Iqad &l U
DR AT: PIi~ Gl T[0T T 7Y &l Bror= WHIEUH ST AT &1 YARI Hreid Wididquurr=t fAd
a1, GTEdedT XY dd-BIi=TU-3d gl shHI HrodigdiaRi=l [daR YeaaR sirad Tl 3=l 6y dad.
AIIIa Bl $eiid TR DlIATGDR gl Wdd i dl FRIdD dRTel. SfcibR gl Fl
HIERTAY AT A SiTdl I ATd U T SUTISH Slideh dNTd. ¢ PR, 701, I § HIdR AP
U 3P RE Siad AT, HHGHA UUId U1, DR 3l Ha 1. IS ol dreb] AHYa Al 3
U GaTd 31T,
DI Hicaifawii=l f[=aR $41 S

1. THA-PI~RIU-IY
2. YEAR
3. 39dq
4. AADRI-TH
1) 1
() 2
3) 3
(4) 4

1[Option ID=4989]
2[Option ID=4990]
3[Option ID=4991]
4[Option ID=4992]

Sl. No.99
QBID:185099

feed! AR argd gl ) feara-

3R STt ATSUT BT AT Dhdid AT TSl aRi=ET IURT HIUME! A1dI, dl SHiodid AffSe U
THI BRI, S=1Y dTeb] FRTAT AT WA HIogRT #gu1 IRh =1 AifdIard o=l Tebrs Toiid dHrodid Al
T i Sliepdriieh UR=TT YT, AU d hdidh ¢RI fequr= TRl 1.

ST [(GdaH WeaTd 31 T UHHBTER 3. ‘BTl FgodR Wsal’; g Wsard T9gad MY oY
I A0} TLeYUI HiTed. HIAE-GfUS I8y Fobol Yo dl IFHIAMRATA § BUI0T STl Sge= a8 1
debdod dd He U1 YA adH & 9o gldd AT He 1. dl He Adld AGUTIrEd Iddd-DIi=H[UI-39 gl
SHHT SiTea] hroidal [der [GETHER gred o,

TAHITHTAEART STddedT IH TREYUNH Ydild SITdl, o Diod IHTHRIA (IHG) 31T dl T Dhlodid 19dd
DR ST 3= HIHE GIUS Al Iesc TUICTd; 3= DIodTd GAldR Dli=1” Aidrd 77 ST; 1
AT 372 Tod -Td HTHT 3 fEHAT: T 3 Hrod TH Hived 14T 32 Tge Fgulel. IHdd ol Uh
STDR SATT; Pl Gl T[0T ST T Gl HIouT=l TAHGEH ST AT Gl WERIH! SHTead didiquurE] e
el ST, BT/ XA qoli:d{;Ul-Wﬁﬂﬂmﬁﬁaﬂﬂ?fﬁQﬂ?ﬁWQ&Hda ST el ST fegT Aerel.

ATIIG Bl Hiid Wb DIATGDR gl WA i dl FRIdD drTedl. SfdbR gl Tl
DIATaYIcddl ardd Sidl AT A 374 drd I9dTe Sidd drTd. 6d- DR, 01, 79 ¢ HIdR A1
Y Sreie R STiae ARTe. HIHGT=AT YT U1, S(ebR S8l Ha 1. 9S4 dl il S{HUT el 3Ll

U JdTd 3.




THI § TRl S9U1d fhid Sram

1. HADBRId

2. DHIG-TUNd
3. -Ed
4. D=1 0T

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=4993]

2[Option ID=4994]

3[Option ID=4995]
4[Option ID=4996]

Sl. No.100
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e SART arT wai=l Sl faard-
QM ITSTel 1 ATSUT BT AT Hdieh AT TSTelifa=ii= IUcRT BT -T™dl, a1 SHredid Aifgel Iu™
JHI BRI, S=1Y dTeb] FRTAT AdT; WA BIogRT 3501 IRb =1 AifdIerd =il Tebre ol brodid A
T i Sllepdiieh ¢R=TT AT, A= hdidh ¢RI feaur= TRl 1.
ST (dd=H eard 311 T UHHBTER 3. ‘P TgadR Wsal2l’; g sard 9 Y o
=l AT TYREUUIH AT, HIHG-&USTd THY Hehol YU dl IGHTAIRA § WUl Sl Sgeld aerld
debdod e He IO YA adH & 9o gldd AR He 1. dl He Adid AGUTIrEd I9dd-DIi=H 0139 gl
AT Sicel] Srodidal [ded fdHER srgs o
TAHIHTTERTH STddedT I8 TREYUIH Ydid STdl, d 6ol TR (IYdd) MRl a1 1 Dhlodid 39dd
SHADR T 3= HIHG GIUS A Iesc FUICTd; 3= DlodTe IR DIi=1” Aidrd 77 ST; T
AT 372 Ted =Td THT 3 fSHAT: 3T 3 Hrod TH Hived 14T 32 Tge Fgulel. IHad &l Uh
AP . I Y 0T AT T &) Proaral aHTaersd S St & TraRi roa Sreauomat fid
el 3T, GTEId eI XA qound{;m-waHWﬁaﬂaﬁﬁﬁﬂﬁﬁaWQ&Hm ST el ST fegT Acrel.
AT cmouru HR1P WXdP PIATCISR &l WA A ol FRId drTell. iR el W
Bl A=l dred Sidl A A= AU 1= 9IS Slides diTd. $8H dbR, I, I ¢ UIdR s
U 3P R Siad dANTd. HHGTAT UUid Ul SAPR 3l Ha 1. ISy dl dreb] SAHYad Araaal 3Rl

gi g B
feh =T ST T TLeUuE Udid Srdr?

1. Ty HTar=
2. FIf-oI=T

3, Preicaifa=ii=
4. GYIGHH=T

(1) 1

() 2

(3) 3

(4) 4

1[Option ID=4997]
2[Option ID=4998]
3[Option ID=4999]
4[Option ID=5000]

Sl. No.101
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 27 7:3

ﬁqﬁ‘rrﬁaawrfﬂﬁaﬁzozoﬁ@ TRI A-F H fdadl o1 91 (drd H) & 91 9oy 3 Higdl 3R J1aR 9
fRER SfguTd UefRid § | URU H Udd afibs! b YR IR UY P IR clfeiv:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

The ratio of the number of literates in City-F to that of City-A is:

78]

D
25
4 1

W b =
OOI*JM

_l_;
98]

1)1
(2) 2
(3) 3
(4) 4

TR-F 3R TR-A & did HIgR Al i e DT U G :

ad

1.3..5
223
3.21:10

oo b I‘~J

-,_‘l .
(%)

1)1
(2) 2
(3) 3
4) 4
1[Option ID=401]
2[Option ID=402]

3[Option ID=403]
4[Option ID=404]
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the

question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 27 7:3

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

The numbers of females in City-B is

1. 138
2. 110
3. 120
4. 135

1) 1

(2) 2

(3) 3

(4) 4

TR-C # Afgarsii & IB & I1Ue TR-B H Afganal & 4@

W
h © O oo

1.
2
3

e et et
o b —

-,h .

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=405]
2[Option ID=406]

3[Option ID=407]
4[Option ID=408]

% of the number of females in City-C.

%% I
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 27 7:3

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

The numbers of illiterates is more than one lakh in:

1. All the six cities
2. exactly three cities
3. exactly four cities
4. exactly two cities
1) 1
(2 2
(3) 3
(4) 4

UH drG U 3Mfd FReR @ ¥ § -

1. gyl &: R g
2. 31 diF TR °
3. Blh IR TR |
4. 31D A TR A

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=409]
2[Option ID=410]

3[Option ID=411]
4[Option ID=412]

Sl. No.104
QBID:1201004




The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 27 7:3

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

The average of the total number of literates in Cities A, B, C and E together is (in lakhs)

1. 1.67
2.0.72
3.1.08
4.1.52

1) 1

(2) 2

(3) 3

(4) 4

TR-A, B, C 3R E H GHI ¥4 U $d HI&RI DI W& &7 3H4d ¢ (AR H) -

1. 1.67
2402
3.1.08
4..1.52

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=413]

2[Option ID=414]

3[Option ID=415]
4[Option ID=416]
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The table below shows the number of persons (in lakhs) in six cities A-F, along with the ratio of males to
females, and literates to illiterates in these cities in the year 2020. Based on the data in the table, answer the
question:

City wise Distribution of Population

City };umt.)er of Persons Ratio
= (in Lakhs) Males : Females Literates : Illiterates
A 5.0 g 1:4
B 36 4:6 A1
2 28 3-4 25
D 45 5:4 3:2
E 50 23 2:3
F 30 27 7:3

afaRad IRolt 5 ay 2020 H B: FRI A-F & Al &1 9= (| H) & 1 4oy 9 Higell 3R 9aR 4
fAR&R S UTd UafRid ¢ | IRl § URdd Sibsl & YR TR YY P IR GIIC:

SRS &1 TRAR Tdavon

afear | FReR
A 5.0 3=3 1:4
B 36 4:6 4:1
& 28 3:4 2:5
D 4.5 5:4 3:2
E 3.0 223 2:-3
F 3.0 P | T3

If the number of persons increases by 10% in City-B and by 12% in City-A in 2021 with respect to 2020, then
the ratio of number of persons in City-B to that of City-A in 2021 will be :

2l
.97 7120
255
.99 : 140
1) 1

(2) 2

(3) 3

4) 4

gi¢ ay 2020 & TYer ay 2021 H AT BT AT H TR-B H 10% R TR A H 12% DI gfs gl 8. d TR-
B 3R AR A H el o Y21 & dfiF 3=uTd gi :

b b =

.

2

.97 120
2y
4.99: 140

1) 1

(2) 2

(3) 3

4) 4

LS S
fad

1[Option ID=417]
2[Option ID=418]
3[Option ID=419]
4[Option ID=420]
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Which social media platform introduces one of the main features known as "super follows" ?

. Facebook
. Telegram
. Twitter

. Whatsapp
1) 1

) 2

3) 3

(4) 4

[T I SEAR He - 8 BIR # I U Bl - YR Bldle

1. hagD
2. T
3. feaer
4. gIeELY

1) 1

(2) 2

3) 3

(4) 4

W I =

=

1[Option ID=421]
2[Option ID=422]
3[Option ID=423]
4[Option ID=424]

Sl. No.107
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Which theory and theorist are associated with learning through observation?

. Behaviourist theory, Skinner

. Constructivist theory, Piaget

. Social cognitive theory, Bandura
. Socio cultural theory, Vygotsky
1

(2) 2

(3) 3

(4) 4

fafeiad o oi-a1 faeid o fGidey Tam gry i 9§ Heifid g

1. TdgRaTE B Rieid, RER
2. GEIETG BT Rygid, foamst
3. ISR SRHTHSD Rigid, 51
4. FrHISID -k fad i, !
1) 1
() 2
(3) 3
(4) 4

W I =

da

1[Option ID=425]
2[Option ID=426]
3[Option ID=427]
4[Option ID=428]
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Given below are two Statements :

Statement I : The direction of flow of emotional energy is changed through the process of redirection and
sublimation from an undesirable goal to a socially desirable one.

Statement II : Catharsis is a desirable method in which channels are provided for the release of the emotional
energy.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1

(2 2

3) 3

4) 4

e pyafeuug -

DHYA-1 : YHTHD Boll & UdTg ! [ faifesd ded I WHISID qifedd @8d Bt 3R TR 3R
eIl Hichal gRT URafdd eIl & |

DYA-11 ; fa¥=1 U difesd fafer g forgd damers Iui Hfad & feg difg iy yer &1 il & |
JWRIGd HY & 3Tl |, =i fU MU fddhedl & I gt IR 9894 DIfSY :

1. HYT IR I Id gl

2. FYFI AR I aHI T & |

3. FYF 1A g, Al HUA 11 A g
4. FUTI NI ¢, A YT 1 TA §

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=429]
2[Option ID=430]
3[Option ID=431]
4[Option ID=432]

Sl. No.109
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What is the main aim of classroom management?

. To keep an orderly classroom

. To establish the primacy of the teacher

. To sustain a quiet environment

. To maintain a positive productive learning environment
1) 1

(2 2

3) 3

(4) 4

afaRad § &1--91 B YdeH &1 UHE 354 6 2

1. &1 Bl AR TG
2. AP DI YVAT RITTT PAT

3. Q[idl GG 0T ST G
4. GHRIHD IAIGADR] MENTH ardIaul (YRaLT) F41T 3G-]

(1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=433]
2[Option ID=434]
3[Option ID=435]
4[Option ID=436]
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Sl. No.110

201010

Match List I with List IT

Bt I((:_:z:l;j_]:;lt;::?ocs List IT ( Programme)
P University Grants 1 Non-Technology post-
© |Commission (UGC) ©  |graduate degree programme
B i omsmyue o st I [Teacher training programime
© |Communication :
C INIOS (National Institute of I Non-Technology under-
" |Open Schooling) ___lgraduate degree programme
(AITTTE. Chennal (Hatignal Out of School Children
D. nstitute of T?c_hmca.l IV,  [|educational programme
[Teachers Training and th "
Resecarch) from class 9% to 12

1)1
) 2
(3) 3
(4) 4

1. A-III, B-1, C-1V, D-11
2. A-1, B-III, C-1V, D-II
3. A-IIL B-1I, C-I, D-IV
4. A-IL, B-L. C-1V, D-1II

Gl 11 Yl 1 9 i eifo

Choose the correct answer from the options given below:

T 1 RTEH & (MOOCs)
BLELED) :«?IIW
S — TeReE

g @) L WWGW

B. |dfew wimm ey i gﬁﬂfﬁw
VT S e R A

c. [RerdmmE@Iag | m Hige
By Uy BrdeH
AP dPIDI- DEN-9 Y 12 TP

D. |eremye Rig iR Wey | IV, (G & ol sl b

1.
2
3,
4,
1)1
(2) 2
3) 3
(4) 4

A-III, B-1, C-1IV, D-II
A-L B-1IIL C-1V, D-II
A-III B-1I, C-1. D-IV
A-II, B-1, C-1IV, D-II

1[Option ID=437]
2[Option ID=438]
3[Option ID=439]
4[Option ID=440]

i faU U fadedi § U Tl IR &l 999 HIfeT :

SI. No.

2.

4.

111

QBID:1201011
Use of theory in social science research is important as it provides:

1. Contrasting framework

Excess literature

Quantitative data

@) 1

3, Justification for research




) 2
3) 3
(4) 4

AT 9 2y # Riid &1 Yaiv Agdqul ¢ Riifh g WeH Hdl @ -

1. AfRP! TUAET (ThHTD)

4. AETHD 3fiho

1) 1
(2) 2
3) 3
4) 4
1[Option ID=441]
2[Option ID=442]

3[Option ID=443]
4[Option ID=444]

Sl. No.112
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A sample of respondents which is available to researchers because of their access to the respondents is identified
as :

. Random sampling

. Quota sampling

. Snowball sampling

. Convenience sampling
1) 1

(2) 2

3) 3

(4) 4

vffal (ITRardrei) @1 oTs ufidest o [Ne@drs @ ITRerarsil d@ 39! Ugd (RN & SR Jude]
g e, SUSHEUHAFI S ¢ ;

1. Urefws® uid=a
PRCLREIPICE R RERE
3. Hidrd vid=aH

4. gfqurie gid=a-

(1)1
(2) 2
3) 3
(4) 4

B b =

.

1[Option ID=445]
2[Option ID=446]
3[Option ID=447]
4[Option ID=448]
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Which of the following are the steps in systematic review of literature?

A. Search for archival records

B. Define the purpose

C. Assess the relevance of selected studies

D. Identify the quality of each study

E. Interview the authors of each study selected

Choose the most appropriate answer from the options given below :

1. A, Band C only
2.B, C and D only
3.C,Dand E only
4. A, Band E only

1)1
(2) 2
(3) 3
(4) 4

fafaRad # ®17 Iigd 31 ouaiyd Hian § U STH ardd R0 g 2

A R Yohdl §q D4 (e

B. 330 P GRHINT BT

C. =0 U U el St YT dl effed o |
D. Y 37 i I0aT bl gl T |

E. Ydd a1 319 & dGh] Dl HIETHR |

Oy

i<l faU 7Y fap el H 9 968 Iugdd IR &I 99 Hifog :

1.$hdd A, B, C
2. $dd B, C,D
3.%dd C,D,E
4. $hdd A, B.E

1 1
(2) 2
(3) 3
(4) 4

1[Option ID=449]
2[Option ID=450]
3[Option ID=451]
4[Option ID=452]

Sl. No.114
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Given below are two statements :

Statement I : Quantitative research lays emphasis on the generalisability of findings.
Statement II : Probability sampling does not generate a representative sample.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

1

(2 2

(3) 3

4) 4




e pyafeuug -

S 1 - GRATOTAS e GROmET (Fsah) B GHraaRuigd R ad ol ¢ |
Y 11 : U1 faaa 9§ $is ufaffs ufdes Tef Saa gidig |
JWRIET DU & 3Tl H, Aid faU 78 fadhedi § 9 Ygl 3R &I 99+ IOl ;

1. BYTIIR IS I g
2. HYTI AR I EHT 3T §
3. HYTI I ¢, AP BUTII 3 A ©
4. YT IET ¢, AfPT PUT I TA &
1) 1
() 2
(3) 3
4) 4

1[Option ID=453]
2[Option ID=454]
3[Option ID=455]
4[Option ID=456]

Sl. No.115
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Given below are two statements :

Statement I : In probability sampling, it is not necessary that all the members of population have an equal
opportunity to be the part of the sample.

Statement II : Non probability sampling method is not a fixed or predefined selection process.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true
1) 1
(2 2
(3) 3
4) 4

CIERAEZIC A G R

HYA 1 : UTihdl Uiada- H I8 3H1a9F el o 1 oHa@ & 94t el I ufdes § 994 ¥ 4 id g4
BT AW U ol |

HY 11 : IR-UIRIH a1 Uld=a- fafe uep [A4d sryar gd-gRH1iYd == ufshar g1 g |

IR HU b 3Tl H, Fid ST MU fabedi & 9 gl IR &l 999 Hifofu ;

1. HYTIAR IS I &
2. HYT AR I AT 3T §
3. HYTIA 6. dfbT YT I 3T &
4. YT T ¢, AfPT PUT I A &
1) 1
2) 2
3) 3
(4) 4

1[Option ID=457]
2[Option ID=458]
3[Option ID=459]
4[Option ID=460]
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Language for communication is a product of :

1. Laboratory simulation
Religious affiliations
Everyday life

4. Elitist preference

1) 1

(2) 2

3) 3

(4) 4

HUNor & fere yiw fAgifed | 9 feogdT teh Iare (aiRon) g 2

1. JARTRITET {00
2. e[ TaeH
3. e Sia

4. 3T adiad

1)1
(2) 2
(3) 3
(4) 4

2.
3.

1[Option ID=461]
2[Option ID=462]
3[Option ID=463]
4[Option ID=464]

Sl. No.117
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By creating a bunch of expectations, mass media induce which of the following among audiences:

1. Professionalism

2. Preference for corrupt practices
3. Political positivity

4. Self-fulfilling prophecy

)1

(2) 2

(3) 3

(4) 4

GR R SU&T3l Bl I (Yoi) DRy SFHAR HIAH (HIGHITST) Rl iarsil | Faifdd # 9 @ uikd
AT 2

1. ARSI

2. Y¥ HdgRI gd adgdr

3

SIS PRSI

1[Option ID=465]
2[Option ID=466]
3[Option ID=467]
4[Option ID=468]
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Human communication involves which of the following factors ?

A. Building symbols

B. Using symbols

C. Manipulating symbols
D. Exclusion of Culture
E. Non-use of symbols

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3.C,D and E only
4. A, CandE only

1) 1
(2) 2
(3) 3
4) 4

g GUN0r § FEfaiad &HF-9 SRS MHA 8 g 2

A. di®! &1 A & |
B. Ydiichl &1 TN AT |
C. Udich] BT g3-UR

D. WH{d BT 3Tqei

E. Uciibl BT TR-YART

i fau U A el | 9 Ul IR &l 99 Hiflu ;

1. $Fdd A, B, 3R C
2. $Had B, C, 3[R D
3.%ddC, D, 3R E
4. FaA A, C, 3RE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=469]
2[Option ID=470]

3[Option ID=471]
4[Option ID=472]

Sl. No.119
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Given below are two statements :

Statement I : Communicative language is the means of transmission of our values and social norms.
Statement IT : Language defines and communicates the world around us.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

1) 1

(2 2

(3) 3

) 4




e pyafeuug -

DY T : GUTUTED HIN SHR Hedl Td AT AHG] & gedl=R0l ST T |
HYT 11 ; HINT GHR 3T-YI ] g /=11 &bl URHINT Td ST Bl ¢ |

JWRIGd HY & 3MTcll H, =i fGT MU [dhetl H T Agt IR &1 981 DI :

1. PUFIR NG 9 g

2. FYF AR M aHI T §

3. HUTITA B, A P I A
4. FYT1 3T ¢, Afhd FUT 1 T g

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=473]
2[Option ID=474]
3[Option ID=475]
4[Option ID=476]
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Given below are two statements :

Statement I : Communication can create a 'feel good' factor among receivers.

Statement IT : Communication can be used as an instrument to divide and alienate the receivers.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

4 4

BIERACAIC AR U

HY L : YOI Ui # <@g Hf (PIATs) PRE I $R bl g |

DY 11 : HUNUT BT IYGNT UTtdeb i 31l bl dlc Ud R DR g Uob HIY o &Y H bl off Febell g
SURIGd BYF b 3Tl H, i< ST U [gbedi # 9 Ggl 3R &1 90 Bifoig -

1. PUFIAR I aH I &

2. HFYTI AR M aH! T &

3. HUT 1 TA B, Afbd YA 11 3T
4. FUTI I ¢, AP FUA T TH §

11
) 2
(3) 3
(4) 4

1[Option ID=477]
2[Option ID=478]
3[Option ID=479]
4[Option ID=480]
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Consider the series given below :
=830 2- 8,15, P55 (),

The values of P and Q i.e. (P.Q) are

5.5 0.5 4 5P 50

P 3R Q & A 314d (P, Q) RTBI?

2 D =

g

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=481]
2[Option ID=482]

3[Option ID=483]
4[Option ID=484]
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10 persons can cut 7 trees in 14 days. In how many days can 16 persons cut 12 trees?

1. 16 days
2. 13 days
3. 15 days
4. 12 days

1) 1

(2) 2

(3) 3

(4) 4

10 e 7 Ui @ 14 f&T § Hre UPbd § | 16 Afad 12 Ui &I fhad i H dre adbd @ 2

ot
—_—
[ IS I

=
]

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=485]
2[Option ID=486]

3[Option ID=487]
4[Option ID=488]
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The average age of a family of 5 members, three years ago, was 17 years. Inspite of the birth of a child in the
family during these 3 years the present average age of the family remains the same. What is the present age of
the child ?

. 2 years

. 3 years

. 2.5 years
. 3.5 years
1) 1

(2) 2

(3) 3

4 4

i oy gd 5 gl & U URaR &l 2{1d 3y 17 a¥ i g diH a9 &l s A URAR At s b STH D
gTd Yl YRAR &1 IdHM 31d 1] dgl a1 g4l ¢ | 9= &I aadH A Al g 2

ay
ay

s ay
ay

LUV o I

B

L O R
LV ST ]
LN

[T S ]
]

B

1) 1
(2) 2
3) 3
4) 4
1[Option ID=489]
2[Option ID=490]

3[Option ID=491]
4[Option ID=492]

Sl. No.124
QBID:1201024

Find a single discount equivalent to two successive discounts of 10% and 20%.

b2

|
(=]

=}

Bl i P

o

(=

LI D =
-2
(2]

o

=
[ ]
LV B

(1) 1
(2) 2
(3) 3
(4) 4

10% 3R 20% P1 Gl hi¥P Fel &b SRIE Thd Fe J1d P ;

©
P

b bl —
(PO T NS I L ]
g

(]

th © 00 -]
B= N = R =
S5 S~

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=493]
2[Option ID=494]

3[Option ID=495]
4[Option ID=496]
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A person walks 30 meters North, then turns right and walks 30 meters. He then turns right and walks 45 meters.
Then he turns left and walks 15 meters. Again he turns left and walks 15 meters. In which direction and how far

is the person from his starting point ?

.45 meters, west
. 35 meters, east
. 35 meters, west
. 45 meters, east
1)1
(2) 2
(3) 3
(4) 4

Ueh Afe 30 Hiex IR D 3R =efdl 8. e a1t 3R Yo © 3R 30 Hiex Idd 8 | I8 fthx arfe-it 3k
Hqgdl g 3R 45 HieR 9ddl ¢ | [ a8 a1t 3R g8dl g 3R 15 Wik 9ddi ¢ | UhdR R 91t iR gedi g
AR 15 WX A § | Y R o T oAfad fha-l g 3R fhy fa=m # g 2

.45 Hiex, ufgs
.35 Hiex, ud
.35 HleR, ufgH
.45 Hiex, gd

1) 1
(2) 2
3) 3
(4) 4

LUV o

B

L O R

I

1[Option ID=497]
2[Option ID=498]
3[Option ID=499]
4[Option ID=500]
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Which informal fallacy is committed in the following statement - "Of course you want to buy XYZ toothpaste.
There must be a reason, why, 90 per cent of India brushes with XYZ toothpaste"

1. Slippery slope
2. Hasty generalization
3. Argumentum ad populum
4. Strawman Fallacy
1) 1
(2 2
(3) 3
(4) 4

RIRIT oA H DI HITEIRD Teh-aly g - 319 g U U XYZ TUUE P10 HA1 =I6d ¢ |
Riifds [l HRUERN HRA H 90 WARIT AR XYZ TUURT U §=T B G 2

1. T g eaM (Raudl %)
. Hfq=r g
AGIEAREEREN]
4, 9 Yeell (ETH) ddb-aly
1) 1
() 2
(3) 3
(4) 4

[N I

1[Option ID=501]
2[Option ID=502]
3[Option ID=503]
4[Option ID=504]
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Which of the following statements is logically equivalent to the statement - "All women are honest human
beings"

Some women are non-honest human beings.
Some honest human beings are women.
Some women are honest human beings.

4. No women are non-honest human beings.
11

2 2

(3) 3

4 4

fFrafifad & 3 S suA difbs 99 59 HYT $ 994 © -« Afgant SAreR AFa § 1

1. % AgAY IR-SAMGR AFA § |
2. PP HFER HHd Afgan g |
3.@%@@?@ Tl
4, ®is i ARG TR- SHMCR AFd 78l § |
1) 1
) 2
(3) 3
(4) 4

1
2.
3.

1[Option ID=505]
2[Option ID=506]
3[Option ID=507]
4[Option ID=508]
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Which of the following statements is contradictory to the statement - "Some birds are mammals"?

. Some mammals are not birds.
. Some birds are not mammals.
. Some mammals are birds.

. No birds are mammals.

11

(2) 2

(3) 3

) 4

AT & A I8 DU 38 HU - P Ul TIURI § 1 1 A 82

1. O WU, gel A |
2. P Ul TWHURI 51 § |
3. 90 WHYRL, T&f § |

4. g 1l gail U T8 8 |

1)1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=509]
2[Option ID=510]
3[Option ID=511]
4[Option ID=512]
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immediately inferred to be false?

1. All animals are birds.
2. No animals are birds.
3. Some animals are birds.
4. Some animals can fly.

If the statement - "Some animals are not birds" is given as false, then which of the following statements can be




(1) 1
(2) 2
(3) 3
(4) 4

ie S IR - “Ho U Ul T8l 8~ Pl A & wU H feur 71 g dl Ferfafad # 9 fog dyd s ar d
AT Ticid FY Y 3 Gl BT A [l S ghal1 g 2

1. oo uefi § |
2. 18 it g el T |
3. PO UYUER T |
4. DB UY IS Yhd g |
o 2
3) 3
(4) 4
1[Option ID=513]
2[Option ID=514]

3[Option ID=515]
4[Option ID=516]
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Given below are two statements :

Statement I : Indian logic treats induction and deduction as separate processes.

Statement II : Indian logic does not reject the verbalist view of logic.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4

e pyafeuug -

DY T : YR Th AR 3TTHA 3R FAT0 B g Wb AT ¢ |

HYT 11 : R AR, THRIR o Mfecidp SPHIUN Bl [FRE 16l PR G |
SWRIFd BUA & 3Tl H, A< [$T MY [dhedl # 9 a8 I9gad IR BT 9 DIfoTg -

1. YT IR ISl Ul &
2. FUTIAR M EHI Tad &
3. HYF [ el g, dibd U I &
4. FUT 1A g, Al YA 11 el &

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=517]
2[Option ID=518]
3[Option ID=519]
4[Option ID=520]
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An Indian company designs a mobile application to process staff records. In each record, 10 bits are used to store
staff ID and 20 bytes are used to store staff names. How many staff records can the mobile application support?

Ui ba

| S T o T N T
[FE T ) =
[ ] [ =

[ ST )

e

1)1
(2) 2
(3) 3
(4) 4

U HRAIT Ul w P & AHAGl I JIied H & [T AlERd ThRH &l HHed duR Bl ¢ |
U 3YeRd H wI% & UgdH YA & HSRUI & (AU 10 [ 3R wIH & MM J994 & o8 20 3¢ &1 YURT
fParSIar g | I 9a1¢ {6 AeEd Teiih e | fha- wTd &, 2Afied iy sl I@d & -

—
[

S O R
—
[ Se]

[T S B S R o |
(5] =
[ ST )

B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=521]
2[Option ID=522]

3[Option ID=523]
4[Option ID=524]
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The action of sending text messages to fraudulently obtain another person's Bank details is called:

. Phishing

. Pharming

. Spamming
. Smishing

1) 1

() 2

(3) 3

(4) 4

HYCYdP bl 3= fdkd DT dehebRI SURT U DR o (1T TSy H=T U - Pl febar hgardl 6 ;

1. TR IRIAT

I

T
4. SR

1) 1

2) 2

3) 3

4) 4

b I =

=

[T ]

1[Option ID=525]
2[Option ID=526]
3[Option ID=527]
4[Option ID=528]
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What are the main benefits of using an SSD rather than an HDD?

A. SSD uses spinning disks and is thus more reliable.
B. SSD is considerably lighter and has a lower power consumption.
C. SSD accesses data considerably faster.

Choose the correct answer from the options given below :

1. A and B only
2. Aand C only
3. B and C only
4.A,Band C

1

(2 2

(3) 3

(4) 4

HDD &1 §oiTd $SD Wil R+ & {3 A4 1 G -

A. SSD H guiq dfchep (U &%) BT UTNT 8Idl & 3R 39 UbR Ug (P f[dya-ia g |

B. $SD dgd 3 gebl gldl ¢ 3R 3GH f[dggd &l dH @I BIdl © |
C. SSD H §gd duil 9§ &< (STel) ®I HRH I ¢ |

Hid fau e fasedi | I gl 3R &I 904 DI ;

1. $9d A 3R B
2. Fad A 3R C
3. HFAAB 3R C
4. A, B3R C

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=529]
2[Option ID=530]
3[Option ID=531]
4[Option ID=532]
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Match List I with List IT

LIST I (Statement) List IT (Value)
A [Number of bytes formed from 8 bits IL |6
B. [Base-10 (denary) value of the binary number : 110 | II. |4
] If there are 2F bytes in 1 mega byte, then what 1s mr
ithe value of P ?
IAn ISP company advertises its broadband download
D. speed as 128 mega bits per second. How many 4- v bo
imega byte files can be downloaded per second
using the company's broad band?

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I, D-II
2. A-II, B-1. C-IV, D-1I1
3. A-III, B-1. C-IV, D-II
4. A-IV. B-I11. C-1. D-II

(1) 1

) 2

(3) 3

(4) 4




G 11 gl 119 e Sifon

T 1 @) “1;;,]}1
A | s foe 4 A age @ 9= L| 6

B. |Gyl T 110 BT §9-10 GMYRH A | IL | 4
;ﬁlmﬁfﬁﬂﬁi’%’?ﬁpﬁﬂﬁﬁzﬂ s g

Dl ATZUHY! BUAT 0 G910 J adrl &
b Sg@ dled e Sre-als Wis 128 AMfae
D. Ufd YPUs & df HUl & slsss &I W d IV. | 20
U UHUS 4 TTERe & [dd-] Bl
e NI ARSI R

frafafad fAsedl d O 98l S| &1 94 Sife -

1. A-ITT B-1V, C-1, D-IT
2. A-II, B-1, C-1V, D-III
3. A-IIT, B-1, C-IV, D-II
4. A-IV, B-11, C-II, D-II

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=533]

2[Option ID=534]

3[Option ID=535]
4[Option ID=536]
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Given below are two statements :
Statement I : Entries in blogs are organized from most recent to least recent.

Statement II : Hits are the number of occasions where key words in a search engine match up with
websites/web pages.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

(3) 3

4) 4

CIERAEZIC A G EE
HUA 1 - s H ufafPal &1 gy gaifies 94 9 eaaq a4 & HH § e Srarg |

HY 11 : bl O SR & Blas 1 T o IR dewge / das & wry GAfid gidl ¢ a8 fge deand
e |

In the light of the above statements, choose the correct answer from the option given below :

1. HYT IR PYTIEH T § |

2. FYFI AR HUA I I A § |

3. HFYF 1A g Albd PYA T A © |
4. FUFI NI AP FUHA I TG |

1) 1
() 2
3) 3




(4) 4

1[Option ID=537]
2[Option ID=538]
3[Option ID=539]
4[Option ID=540]
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Given below are two statements :

Statement I : Most of the hazardous landslides are induced by earthquakes.

Statement IT : All landslides involve falling of earth material under shear stress.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4

el pyafeuug

DY : YD TARAID Yo, Yebul ¥ HURTBIA © |

DY 11 : GHT HEEAA! H YT §1d & S d H-AHE & [TRAT Ul Sl g |
SIS HY & 3MTcllp H, =i [T MY fdhetl # T A5t IR &I 981 DI :

1. PYT IR I ad 8
2. HYF AR I GHT AT g
3. HYT I §. A BYT 11 3 A ©
4. YT AT . AfPT YT I TA &
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=541]
2[Option ID=542]
3[Option ID=543]
4[Option ID=544]
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Given below are two statements :

Statement I : It is relatively easier to monitor and regulate water pollution caused by nonpoint sources than point
sources.

Statement II : Nonpoint sources of water pollution may be fairly uniform and predictable throughout the year.
In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4




e pyafeuug -

DY 1 : fdg Fidl &1 U IR-fdg (1 Wige) Tidl ¥ 3@d g didd oid UGl & (RHET (@ Hier) ud
[RIZT0T SBRAT SUENPHd AR § |

DY 11 : STAUGH & TR-fdg (A1 Wige) Fid gui =08 U HM 3R g a8 Ydi-Hg g1 9hd g |
SWRId DY b 3Tl H, 1 fT U fdhedi # 9 Ggl 3R &1 989 iy :

1. HYTIAR IS I §
2. BYTI AR NI SHl e &
3. HYT I 6. dfbT YA I 3T &
4. FYTI I G, AfPAFUT I I ©
1) 1
2) 2
3) 3
4) 4

1[Option ID=545]
2[Option ID=546]
3[Option ID=547]
4[Option ID=548]
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Given below are two statements :
Statement I : By 2025, two-thirds of world's people will be living in water stressed countries.

Statement II : Growth of water withdrawal and consumption in Industrial sector is going to overtake that in
Agriculture sector by 2025.

In the light of the above statements, choose the correct answer from the options given below :

1. Both statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I is false
4. Statement I is false but Statement II is true

11

(2) 2

3) 3

4) 4

e pyafeuug -

P 1 : fa8 SRRE & &l fdeTs dlT ay 2025 AP, STd-3HIaUd a%ll A | I8 ol |

HYTIIL: D &7 H Set-alg (FRI) SR "D IYHRT H gl a9 2025 TP HNEE H giard IUaiT
Y 3{fedm - oGl 6 |

IWRIF] HU b 3Tl |, i faU MU fabedi & 9 Ggl IR &l 999 HIfU ;

1. HYTIAR IS I §
2. BYTI AR NI SHl e &
3. HYTI I g, Al BUTII 3 A ©
4. FYTI I G, AfPAFUT I I ©
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=549]
2[Option ID=550]

3[Option ID=551]
4[Option ID=552]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : Kyoto Protocol exempted countries such as India and China from rolling back their Greenhouse
Gas emissions by about 5% below 1990 levels by 2012.

Reason R : Exemption was given to India and China as their contribution to total Green House Gas emissions of
the world was insignificant in 1997.

In the light of the above statements, choose the correct answer from the options given low :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. A s true but R is false
4. A'is false but R is true
)1
(2 2
(3) 3
(4) 4

19 ST P AW § - U SHHBHU (Assertion A) B &Y H [dRId § Al GERT 3HD PHRUT (Reason R) B &Y
ff.

AFUDHYA A : I UIIDId U HRA AR = oY <=1 Bl 39 gRI 6T & ard gRd T (UH 8139) 19
Il H ay 2012 T, 1990 & TR U 5% A< B [T S o Hafel H Fe e ot |

PRI R : HRd HR = DI dg Fe SHIT Uar $i i 20t Fiifeb 9% o1 o R g 19 I H 37
TG 9N 1997 H 9gd HH (Hgdol) oI |

JURIS HY-T & 3Tl |, i fGU U fddhedi # I A5t 3R &1 991 DIy -

CASRRIFAIIT S 3R R A DI ol ARAT &
 AJRR NI T, AfBTR. AP Gl ARAT ST ©
AT g, dfPIR 3T ©

AEI T, APIRIA T
1) 1
() 2
3) 3
(4) 4

L O R

i

1[Option ID=553]
2[Option ID=554]
3[Option ID=555]
4[Option ID=556]
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Sources of heat of geothermal energy are

A. Radioactive decay of unstable elements
B. Nuclear fusion

C. Magma

D. Temperature gradient inside earth

E. Oceanic circulation

Choose the correct answer from the options given below :

1. A, Band C only
2.B, C and D only
3. A, Cand D only
4. C,D and E only

1) 1

() 2

(3) 3

(4) 4




YA ol BT I H Hid g -

A. IR Il D1 ASTElhT &g
B. ¥ Jag

C. HH

D. Jedl & 3f-<X dTqHT Ygurd]

E. HeITRIY Ikl
I 3T 71U [agadl # O el IR &1 994 Do :

1. FGd A, B3R C
2. $Had B, C 3R D
3. Fad A, C 3R D
4. $adC, D3R E

(1)1
) 2
(3) 3
(4) 4

1[Option ID=557]
2[Option ID=558]
3[Option ID=559]
4[Option ID=560]
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According to NEP 2020, which of the following will not be the function of National Educational Technology
Forum (NETF) ?

. To envision strategic thrust areas in educational technology

. To build intellectual and institutional capacities in educational technology

. To provide grants for setting up educational technology centers in central government institutions
. To articulate new directions for research and innovation in educational technology.

L R

.

(1)1
) 2
(3) 3
(4) 4

Tt fR1& A 2020 & STER, FafaRad # 9 SH-91 AP Aldib YIB! BRA (TR 1U%) BT SR T8l
BT 2

1. QI&ffOreh YIeifiept # Ui Wi & W faaR &1 |

2. Qeffores Wienfiiest | dlfgd vd GeuiHe mdisi &1 i B |

3. Do ERXHRI G H aifred Uit Sl b1 R B g S S |
4. Qeffore Ureniiest § /MY Ud 7aT€R 3q A4 FRi &1 oaReat a1 |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=561]
2[Option ID=562]
3[Option ID=563]
4[Option ID=564]
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National Skill Qualification Framework (NSQF) is a competency based framework that organizes all
qualifications according to a series of levels of

A. Knowledge
B. Understanding
C. Skills

D. Attitude

E. Aptitude

Choose the correct answer from the options given below :

1.B,D and E only
2. A, Cand E only
3.B. Cand D only
4. A, B and D only

1

() 2

(3) 3

4) 4

P IS Il shHdh (TTLHRIUD) Uh &N TR hHdD ¢ Sl b, FHifhd oy &R &t g &
TR Gl Arsfi 1 Gifdd ddi g |

A QA

B. §HA
C. PRI

D. 3ffHafx

E. 3fI¥&dr

i 3T 7Y fdep el | 9 96 Iugdd IR &I 99 Bifog :

1. $ad B, D, 3R E
2. FAd A, C, 3R E
3. Had B, C, 3R D
4. A A, B, 3D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=565]
2[Option ID=566]

3[Option ID=567]
4[Option ID=568]
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What is the full form of NHERC?

. National Higher Education Review Council
National Higher Education Repository Council

. National Higher Education Regulatory Council
National Higher Education Regulatory Complex

LI S I

=

1) 1
(2) 2
(3) 3
(4) 4




U R 61 gUf U A1 § 2

1. A%d §R U R I3

2. A=A gRR TG Ruifeiedt drdfaa
3. TR TR TG R Wgaied] pIdfid
4. A TR TG h I WA dlirddy

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=569]
2[Option ID=570]
3[Option ID=571]
4[Option ID=572]
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Who among the following gave us the names of the twelve divisions of the solar zodiac and whose calculation of
the earth's circumference was not off the mark?

1. 18varakrsna

2. Aryabhata

3. Bhaskaracarya
4. Brahma Gupta
1

) 2

3) 3

(4) 4

afaRad # 9 fa 9R AR (@R Sifeae) & 12 YT &1 AHSR0] fhar 3R S gRI S Tt gedi o
GRS 1 701 9 giH & e ot 2

1. R
2. 3Ye

3, YRHIET
4. SIgHT

1) 1

() 2

3) 3

4) 4

1[Option ID=573]

2[Option ID=574]

3[Option ID=575]
4[Option ID=576]
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Following the recommendations of which of the following Committee the Central Advisory Board of Education
(CABE) was revived in 1935 ?

1. S H. Wood Committee
2. Hartog Committee
3. Wood-Abbot Conunittee
4. Sadlar Committee

11

(2) 2

(3) 3

4) 4




frofafad fou affa ot Bafd & ameR W St R gaesR 618 (©iuds) & av 1935 3 gH: 919
fepa T 2

1. U9, U9, 43 |fafd (eHd)
2. greiv gfafd
3.93 - Udic gfafd
4. YSer giifd
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=577]
2[Option ID=578]

3[Option ID=579]
4[Option ID=580]

Sl. No.146
QBID:1201046

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book. tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

“f= faw 7T Treriwr 1 ufdu SR Uy &1 Iugad IR SIS :

Ui dae sfcr famsid - serid SR & &R afftdaun o1 o dig sirei=H1 & forg f[qweand ¢ |
SYPT (IR 39, 21801, SHo7l 9 | uRded d@ U1l S & Uaa-d & WHIa! Bl [diaiaul R diiE
ST & FAHRUVGE I ABR AT i 3R Ioifa® wHdl & Te, 1 961 ¥ | 3791 a7
BR HHIAIRAET H ID1 3 SATeia-1131 BT R Ukdd (a1 741 g d Aei-lidd =P & HeH oY - Sl
o fq-TIgRited Tredi & gAHamT & U § Saiferd 3 | 3 g9 (o fq-iexiiedr Wsa widaried foar |
g G D PIel b IUUER & FY T ATe=q1 & 1 ferdl Tt A | 38 Uies ¢ Yron ug ot fb
[dYe TG BT IAd TR [l THIS H 3D 94 o [d-11=1 o] HReb Ual BRdl § | 371 Hd AR
Icdre & S Iare dfd A Gaferd o | 3l =¢dl & 1Y $gl d U fdg & dle sfienfiis
JUDHRU S SR UGIdRUT bl &ifd =TTl | Gogdi Wdlsd] H 3ol & Glg- & A1 HIed e o1 ¥dd &R0l
R 1 7T | SHP fTal GO 3R RH & Sfeshxvl J 34 3R 9 e off il wifd & 9y uad g
| ST 2rdred] # fa=Iied I & IuHRu o1 Uieliffhadl & JggiT 8 YA H1 YEeRE-1 o1 R guf
g |

What was the criticism of Illich on expert-based institutions?

1. Non-professionalism in sectors like medicine and transport
2. Too much expertise in the field of education
3. Adverse effects of feminization of work
4. Danger to economic progress.
1) 1
() 2
(3) 3
4 4




AN - SeTiRd =T R Zferd Bl S di 2

1. 3{NIE 3R ulkded oI &F] § TR-aarauriasdd
2. TR1en & & o 9gd 1fie fa=wsran

3, BRI & T ICHIBR] b i UHIG

4. 3Tde WTid I G

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=581]
2[Option ID=582]

3[Option ID=583]
4[Option ID=584]

Sl. No.147
QBID:1201047

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book. tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

A= fou 7Y Tefie 1 ufeu 3R Y DT Iugad IR aiford ;

gfafRd oad sford IRy - SMeTid SR & &ifdd AT P 391 T M= & fore fdend © |
SUPT AR 3ATe, R1af, 3oll U A= iag- db Ul BT & Yaad & UHTE! B [aiadadol 3R dfT®
oS & IIAIBRUIAGE J A AfGarTd i 3R IsHITa® S5l & Gg, 1 el 4 | 391 s 7
BR AT T 3BT 3 a3 BT YR Udd (a1 741§ d Aiidd =P & He oY - Sila
o [aTieRiTe H1erH! & YAHHTUN & U H Wi o | 3gi- 39 (oY fa-ie=iidaar 2rsg widaridd o |
g G D Plel b SUHER & FY H SATH=d & A1 ferdl Tt 4t | 38 Uiy ¢ YR 4g 4 fb
a9 ST 1 3Ad <RI fob il IS T I T o [d-1=1 &1 DR U Bl © | I7D! BT HTURUN
IdIG & AeNfiD g e Afd 9 Yaferd off | 3% 2gar & 1 &gl fb U fog & a1e afielfiis
JUBHU S 3R UidR0T bl &ifc Ug=Tadl | Forgdi Qdlsd] H 3ol & GIg- & J1 Jlferd e o1 Fdd &R0l
SRH BT TR | $HP 3{ATal GHY 3R RIM & GigShv] U 34 R g e oif SAeiiies Hifd & Ty gad gof
| ST 2rcTsdl H =i d T @ IUDRON ol UEiihdl & TgaiT W FATS B GUR=-1 61 B gui
gof |

His critiques were set in the context of;

1. Global historicity
2. Convivial modes of living
3. Self-degradation
4. Ethical norms
1
(2 2
3) 3
(4) 4




3% gATAEAE feg dey 7 off 2

L. S ey
2. Sitad &1 faaieeia Jfaar
3. ¥9-3{dhHU
4. Afq®d ArFcs

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=585]
2[Option ID=586]
3[Option ID=587]
4[Option ID=588]

Sl. No.148
QBID:1201048

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

<f1= faw 7T Treriwr 1 ufdu SR Uy &1 Iugad IR SIS :

Uiaf8d W Sierd (ISR - e SRl & &fdPH YA B 3{U-! i SfTel=-1 & ot [ded g |
DT (IR 39, f218q1, STl U W= uRded a@ UTl B & Uaa- & WHIa! Bl (I iRiaol 3R dliid
ST & BRSO I AdR Al i 3R Ioifa® SHdl & Te, 1 el ¥ | 37! s 7
BR HHIAGIRIT H 3D1 3 SATela-1131 BT TR Ukdd [l 71 g d Asi-lidd =P & HeH oY - Sl
o f-TIgRite Treadl & gAHamT & U § Saiford 4 | 35 39 (o fq-iaxiedr Wse widariad foar |
g gD HD DIl &b IUUER & FY H ATH=qH1 & 1 ferdl 7t At | 3 Uies ¢ 4R ug 2t fas
a9 ITE BT IAd <RI [l GHIS H IHeb T o [A-1=] 1 DR UG Bl ¢ | I7D! HBI HIURUN
IdIG & e Iadre dfd d Hdferd ot | 3% 2edl & 41 &gl fb U fdg & a1 sfienfis
JUDHU S 3R UGidRUT bl &ifd =TT | Yol Wdlsdl H 3ol & Glg- & 1Y HIferd e o1 ¥dd &R0l
RY 1T | SHP ATal GO 3R RM & diesnvl I 34 3R 9 [ off e wifd & 9y ad gaf
| ST 2rdred] # 9= d I & IuHRu ol UIelfihdl & gt 8 GATS H1 YEeiRE-1 o1 SR guf
gofl |

What did Illich foresee in his book ?

1. Industrial Society's self-destruction.
2. More scope for mass production
3. Arrival of advanced industrial society
4. End to all struggles in the world

1) 1

(2 2

(3) 3

(4) 4




i = 37Ul g H fhgept gaiaur foar o1 2

1. 3TN 99T o1 W-faare
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1) 1

(2) 2
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4) 4

1[Option ID=589]
2[Option ID=590]
3[Option ID=591]
4[Option ID=592]

Sl. No.149
QBID:1201049

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

<f1= faw 7T Treriwr 1 ufdu SR Uy &1 Iugad IR SIS :

Uiaf8d W Sierd (ISR - e SRl & &fdPH YA B 3{U-! i SfTel=-1 & ot [ded g |
DT (IR 39, f218q1, STl U W= uRded a@ UTl B & Uaa- & WHIa! Bl (I iRiaol 3R dliid
ST & BRSO I AdR Al i 3R Ioifa® SHdl & Te, 1 el ¥ | 37! s 7
BR HHIAGIRIT H 3D1 3 SATela-1131 BT TR Ukdd [l 71 g d Asi-lidd =P & HeH oY - Sl
o f-TIgRite Treadl & gAHamT & U § Saiford 4 | 35 39 (o fq-iaxiedr Wse widariad foar |
g gD HD DIl &b IUUER & FY H ATH=qH1 & 1 ferdl 7t At | 3 Uies ¢ 4R ug 2t fas
a9 ITE BT IAd <RI [l GHIS H IHeb T o [A-1=] 1 DR UG Bl ¢ | I7D! HBI HIURUN
IdIG & e Iadre dfd d Hdferd ot | 3% 2edl & 41 &gl fb U fdg & a1 sfienfis
JUDHU S 3R UGidRUT bl &ifd =TT | Yol Wdlsdl H 3ol & Glg- & 1Y HIferd e o1 ¥dd &R0l
RY 1T | SHP ATal GO 3R RM & diesnvl I 34 3R 9 [ off e wifd & 9y ad gaf
| ST 2rdred] # 9= d I & IuHRu ol UIelfihdl & gt 8 GATS H1 YEeiRE-1 o1 SR guf
g |

The consequence of Industrial Revolution are :

A. Damage to environment

B. Restricted use of energy

C. Conquest of time and space
D. Minimal use of resources.

Choose the correct answer from the options given below :

. A and B only
.Band C only
C and D only
.Aand C only

d= W b =




(1) 1
(2) 2
(3) 3
(4) 4

STEfiTep shifcr & URUMA§ 2

A. TR0 B Gl

B. 3uil @1 ufqsfed o

C. 979 3R WH Pl fasy

D. 14T T ATH ST

Hid fau T fadhedi H I Tol 3R &I 98- DIIU :

1. Fad A 3R B
2. HAAB AR C
3. $Had C 3R D
4. FadA3RC

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=593]
2[Option ID=594]
3[Option ID=595]
4[Option ID=596]

Sl. No.150
QBID:1201050

Read the following passage and select the most appropriate option for question :

Reputed author Illich is best known for his sharp criticism of the deleterious character of expert-based
institutions. These ranged from medicine and education to energy and transportation. The disempowering effects
of feminization of work and the narrowing down of gender struggles to a matter of individual economic and
political equality were also there. His book, tools for conviviality summarised many of his critiques. They were
set in the context of a political vision, namely, the reconstruction of convivial modes of living. He termed it as
'conviviality'. The book was self-consciously written as an epilogue to the industrial era. The conviction behind it
was that in the advanced stage of mass production, any society produces its own destruction. His key concept
was related to the industrial mode of production. He averred that industrial tools beyond a point would damage
people and environment. The steady erosion of limits started in the seventeenth century with the harnessing of
energy. Added to it was the progressive elimination of time and space, that gained force with the industrial
Revolution. It accomplished a complete restructuring of society in the twentieth century, aided by tools and
technologies of specialized knowledge.

=l 73U 1T Teli=r BT uieT 3R UY DT Iugad IR alforg ;

Ui e Sfer fa=esid - SuTid =A@ &R afftciaun o1 oy dig sirei=H1 & forg f[qwead g |
DI (IR 39, [21eq1, STl 9 ddhx uRded a@ U1l B & Uga-d & WHIal Bl [daiaiaul 3R diE
TN & ILAHROVAGE U THR AT S 3R eI Sl & Te, 1 781 ¥ | 3791 s T
BR HFAAACT 8 371 3 AT B R Udd a1 741 ¢ d Aifae = & g o - Sila
& faTieRiied HierHl & GAH10 & U H Saiford o | 3-gi- 99 ol fa-iegiiadr 2ss ufdurfed fbar |
g GxiD HHD PIef b SUHER & FY T SHTd=d1 & T ferdl Tt 4t | 38 Uiey ¢ Yron 4g 4 fb
[qgd ITE BT 37d <RI [ail YIS H 3G T & [A-1=T &1 DR U] Rl ¢ | 39D G-I ATURUN
Icdre & S Iare dfd 3 Gaferd o8 | 3 =¢dl & 1Y $gl [ U fdg & dle sfiefiin
JUDHU S 3R UGidRUT bl &ifd =T | Goagdi Wdlsd] H 3ol & Glg-1 & H1Y Hierd e o1 ¥dd &R0l
RY BT | 39 Tl GHY 3R RIM & Sie™hrul ¥ 38 3R & 7l ST 31eiifies hifd & iy uad gaf
| sl Qrclsal H fAipd S & IuebRull ol Uil & TaRT & FHTS! B YTHRd-1 B B guf
gofl |




The inference from the passage is that:

1. Specialized expertise is absolutely essential.
2. An industrial society is a welfare society.
3. Conviviality should have its own limits.
4. Industrialization is highly beneficial.
1) 1
) 2
3) 3
(4) 4

1. faf2ry fauigral fAdid smewws § |
2. 3ENTE TATS U HTUIBRI AW § |
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4. ETH0T 2/ d AHBRI © |

@) 1

() 2

(3) 3

4) 4

1[Option ID=597]
2[Option ID=598]
3[Option ID=599]
4[Option ID=600]




